Education Consultant India Ltd.

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : PGTPHY1

Subject Name : PGT- Physics (Female)
Creation Date : 2021-06-29 13:17:00
Duration : 180

Total Marks : 300

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

Mental Ability

Group Number : 1
Group Id : 976755294



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Mental Ability

Section Id : 976755619

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 976755734

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 97675510580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

J10T, N14S, R18R, V22Q, ?
Options :

A. ¥ 726P

B. * GO9N

C. % V23p

D. # D5N



Question Number : 1 Question Id : 97675510580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedl § 9, 30ft # g ug ) 31 STl

J10T, N14S, R18R, V22Q, ?
Options :

A. ¥ 726P

B. # G9N

C. # V23P

D. * D5N

Question Number : 2 Question Id : 97675510581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

DaC, Fel, HiO, JmU, ?
Options :

A. * LQw

B. # pLC

C. # Qlv

D. ¥ LgA

Question Number : 2 Question Id : 97675510581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fdemenl O 9, 9ot & g &R T9g &I I1d Diford|



DaC, Fel, HiO, JmU, ?
Options :

A. ¥ LQw

B. # pLC

C. # Qlv

D. ¥ LgA

Question Number : 3 Question Id : 97675510582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

A. ¥ Nitrogen

B. ¥ Water

C. # Salt

D. * Baking powder

Question Number : 3 Question Id : 97675510582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefaRad A ¥, fou U fomedi | O fouH Wiss &1 999 &1 |
Options :

A. ¢ EEISH

B. ® UMt

C. % JHdh

D. % Sfh?T UI3SR

Question Number : 4 Question Id : 97675510583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the related word from the given alternatives.

Bacteriophobia : Bacteria : : ? : Darkness
Options :

A. ¥ Lygophobia

B. # Cardiophobia

C. # Pyrophobia

D. #* Hydrophobia

Question Number : 4 Question Id : 97675510583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGT T faspedl # @ Hefid 2sg b1 = B
S ROTmIfeaT : ST : : 2 : 3fYBR
Options :

A. ¢ TerTpifera

B. % SHiiagImifedn

C. % UIRIpIfeam

D. % grEaIhiiedl

Question Number : 5 Question Id : 97675510584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

FHBJ : LPDT : : EKCG : ?
Options :

A. % IWNF

B. ¥ JVFN

C. # VJFN

D. # JFVN



Question Number : 5 Question Id : 97675510584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferferRad U= #, fau 7 fasbedl # A Heiferd siaRl &1 o &1
FHBJ : LPDT : : EKCG : ?

Options :

A. # IWNF

B. ¥ JVFN

C. % VJFN

D. * JFVN

Question Number : 6 Question Id : 97675510585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'POCKET!' is written as 'QQFOJZ'. How will 'FEMALE' be written as in that language?
Options :

A. ¥ HHDNBF

B. ¥ DDANBD

C. ¥ GGPEQK

D. ¥ BBDNED

Question Number : 6 Question Id : 97675510585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraft fAf3d B U &, 'POCKET' &1 'QQFOJZ' & =U H fora ST 81 3 UTHT & 'FEMALE' & o foraT Saem?
Options :

A. ¥ HHDNBF

B. ¥ DDANBD

C. ¥ GGPEQK

D. ¥ BBDNED



Question Number : 7 Question Id : 97675510586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family went out for a walk. Daughter walked before the father. Son was walking behind the mother and ahead of father. Who walked last?
Options :

A. % Son

B. ¥ Father

C. # Mother

D. # Daughter

Question Number : 7 Question Id : 97675510586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP URAR & ANT cgaq & ol aTeR T | firar & uge Tt eed 8t At g7, A1t & e Ui fOran & 31T e d T Ul 9a 3fd § &1 egd
el YT ?

Options :

A #* UF

B. ¢ fuar

C. % Hidl

D. ® gt

Question Number : 8 Question Id : 97675510587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of children, Deepa is 9th from the left end and Kajal is 13th from the right end. If their positions are interchanged, Deepa becomes 18th
from the left. What is the new position of Kajal from the right end of the row?

Options :
A. ¥ 22
B. # 25
C. %27
D. % 33



Question Number : 8 Question Id : 97675510587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Il Bt U Ufad H, 0T ST BR ¥ odf RIM R 3R HI6d &l BR ¥ 13d RIF R g1 3¢ 376 RIF gad U S df a7 S8R ¥ 184
RIF IR 1 ST ¢ | Ui & 31 B8R ¥ Siord & Rufa & gt

Options :

A. ¥ 22

B. % 25

C. %27

D. # 33

Question Number : 9 Question Id : 97675510588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
All months are Septembers.
All months are Octobers.

Options :

A. ¥ Some Octobers are Septembers
B. # All Septembers are Octobers
C. # All Octobers are months

D. # All Septembers are months

Question Number : 9 Question Id : 97675510588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T feu T Uy H, &l HUF & 916 fawed] & IR Fpd QU MU &1 Siue! T 7T Sl &1 I A1 6, Ha 81 d Jasnd axdl o g Ui
gid g1 1 gt el 1 ufeu fOhr aa Fifore o fau e feerel & § &1 A1 dhaTd $U I SR 3l 8, 18 Ja1d a3 3 Hi 8l




HhY:
gt 7gA, RideR B
gt 7EH, SR g |

Options :

A. ¥ B faeeR, RdeR &
B. # Tt RideR, SragaR §
C. * gt 3R, AIE §
D. * i Rder, 7 &

Question Number : 10 Question Id : 97675510589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are three statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:

1. All keys are locks.
2. All locks are screws.
3. All doors are keys.

Conclusions:
I. All screws are keys.
II. Some locks are keys.

Options :

A. * If only conclusion I follows

B. ¢ If only conclusion II follows

C. * If either conclusion I or II follows

D. # If neither conclusion I nor II follows

Question Number : 10 Question Id : 97675510589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR R T Uy A, 9 By 3R 3P 91 &I FAshy feu MU &1 3! fau 7w i U=l &l I A1 8 Ha 81 9 gagnd 9 9 fu=1 udia



gid gl | It el 1 ufe fhr aa Pifort o fau U fsen sl & I F A1 dhaid ¥4 I SII¥RUI 6l 8, 16 Ja31d ad $ H 3l

hY:

1. g =ret, a8
2. gt I, T B

3. gt eRa, =Telt §

frepy:

L. gt O, =relt § 1

II. $3 I, IS ] |

Options :

A. # Ife Fad sy 1 T B

B. ¢ Uf¢ &9 fsrd 11 g 8

Cc. #* giemfay rarngas

D. % geId Py | R TE Apy 1qT 3

Question Number : 11 Question Id : 97675510590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
O>7Z>L>Y;U=Y>H>P

Conclusions:
I.Z>H
I.LP>U

Options :

A. ¥ Only conclusion I is true

B. # Only conclusion II is true

C. % Either conclusion I or Il is true

D. # Neither conclusion I nor II is true



Question Number : 11 Question Id : 97675510590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, T A 34w 3raudl & ol a9 ol i T 81 HUF & 915 &l ey fau mu g1 fRT U 99 & 3nyR R st &
I B 3R Ifad I B gl

HY:
O>Z>L>Y;U=Y>H>P

frpy-
I.Z>H
I.P>U

Options :

A. ¥ Had ey 1 93 &

B. % &ad (s 1 I B
c.*gafpd 1o ngas

D. % geId APy | R sy 1qT 3

Question Number : 12 Question Id : 97675510591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the mathematical signs should be interchanged in the below equation to make it mathematically correct?

440 x 10-330+ 100 ~5=214
Options :

A. % +and+

B. # -and ~

C.¥ xand~+

D. # +and x

Question Number : 12 Question Id : 97675510591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau o e # SR ) fvifa forg 3o & Sea WM =TT o i a) JHIeRor 98l 8l |

440 x 10-330+ 100+ 5=214
Options :

A % + 3R+

B. ¥ - 3R+

C. ¥ x 3R+

D. ¥ + 3R x

Question Number : 13 Question Id : 97675510592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in a series given below.

4,10,22, 46, ?
Options :
A. * 56
B. # 66
C. %76
D. ¥ 94

Question Number : 13 Question Id : 97675510592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et &t Tt 9oft 7 o e I ®e

4,10, 22, 46, ?
Options :

A. * 56

B. # 66



C. %76
D. ¥ 94

Question Number : 14 Question Id : 97675510593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the following.

Amphibians, crocodiles, Sharks
Options :

°0

©

C. %

O
OP°




Question Number : 14 Question Id : 97675510593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3G BT IT B3 ol 99 P s T T ) gRiar g |

IYITR, ATRAS, b
Options :

°0

A. ¥
B. #
C. %
O
10
D. %

Question Number : 15 Question Id : 97675510594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the following:



“Uttar Pradesh, Jhansi, Goa”
Options :

Q)

B. #

C. #®

D. #

Question Number : 15 Question Id : 97675510594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3RT BT I B3 ol (99 & 1 Jet I &l <2iar gl



Options :

Q)

B. #®

C. #

D. #

Question Number : 16 Question Id : 97675510595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy starts walking towards west, he turns right and again he turns right and then he turns left at last. Towards which direction is he walking
now?

Options :



A. % West
B. ¥ North
C. # South
D. # East

Question Number : 16 Question Id : 97675510595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TSHT UHH B 3R T TR FH1 &, i g TSdT 8 | U IR R 98 g1 Gl & T e o §f a1 gat g | 314 9% fovw fa=m
1 SR IAET 87

Options :

A. % Tigg

B. ¥ IR

C. % gfamo

D. ¥ g4

Question Number : 17 Question Id : 97675510596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.
Options :

>




C.¢

Question Number : 17 Question Id : 97675510596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fose T H |

Options :

A #®

>




Question Number : 18 Question Id : 97675510597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
A %12
B. ¥ 13
C.¥ 15
D. # 18

Question Number : 18 Question Id : 97675510597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

<171 3epfa H fob Fiyor 82

Options :
A. %12
B. #% 13
C.¥ 15
D. % 18

Question Number : 19 Question Id : 97675510598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

e wA
N2

Options :

7A




H

N\

Question Number : 19 Question Id : 97675510598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR AP, U 3Mpid & Uiy & I 2

e wa
i [F s

Options :

A
~

B. #®




=4

Question Number : 20 Question Id : 97675510599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure is the exact mirror image of the given question figure when mirror is held at PQ?

Question figure:

&

Options :

L o e e W

A
=




B. #®
=]
Q
C. %
s
\U
D. ¢

Question Number : 20 Question Id : 97675510599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&Y 718 IR TRl | Y B Ul €Y TS SHepict b1 Wt Ufiferrd ST STe U &1 PQ UR T SITL?
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Options :

A.

C.
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Question Number : 21 Question Id : 97675510600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The festival of Kumbh mela is organised in India every years.
Options :

A ¥ 12

B. % 6

C. =2

D. # 4

Question Number : 21 Question Id : 97675510600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § SH A BT 3o &2 auf H giaT g
Options :

A. ¥ 12

B. % 6

C. %2

D. % 4

Question Number : 22 Question Id : 97675510601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where are the famously known Elephanta Caves located in India?
Options :

A. # Odisha

B. # Rajasthan

C. ¥ Maharashtra

D. # Karnataka

Question Number : 22 Question Id : 97675510601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR P URIG Telithel ThIE ol [Ud 62
Options :

A. ® 3nfean

B. #

RSS!

C.¢

HERTY

D. #

Genirey

Question Number : 23 Question Id : 97675510602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Union Territory of Ladakh got the largest solar project set up under the Centre's initiative at Leh IAF centre in November 2020, to
provide sustainable energy alternative to fossil fuel and traditional methods of energy generation.

Options :

A. ¥ Make in India
B. # Skill India

C. # Smart Cities

D. # Digital India

Question Number : 23 Question Id : 97675510602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 2020 H, g MRAT U TR B! 08 3feT9 TRBRE (1AF) e H &g Bt Ugd & Sfavid RIfd Jad Tot IR gRaSH
iR, St Shar=e Se 3R SHull IdTad & URURS aRidh! & foft R Sl [dded UG He o

Options :

A. ¥ T o Sfear

B. % f&pa Sfgan

C. ® e [



D. % f&fore sfean

Question Number : 24 Question Id : 97675510603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following financial institutions is also known as International Bank for Reconstruction and Development (IBRD)?
Options :

A. *# International Monetary Fund (IMF)

B. ¥ World Bank

C. # Asian Development Bank (ADB)

D. * European Investment Bank (EIB)

Question Number : 24 Question Id : 97675510603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed # © fby foxia TR &1 sragia g SR a9 (SgaleiRe) & &U H ) ST S 672
Options :

A. ¥ YA HiMe! B8 (IMF)

B. ¥ fay d&

C. % YRS 9P §F (ADB)

D. ¥ TRIMUTH a1 d& (EIB)

Question Number : 25 Question Id : 97675510604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the below-mentioned states was the first one to implement "Kudumbashree", a women-oriented community-based poverty reduction
programme?

Options :

A. ¥ Tamil Nadu

B. ¢ Kerala

C. # Karnataka

D. # Andhra Pradesh



Question Number : 25 Question Id : 97675510604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed & I & 91 Iog Al d-3% Tar S1UTRd TRIst 34T SRihH "HgEg" &1 AN HRA ardl Igal Ao UT?
Options :

A %

GIEGEIS

B. ¥

CRG
C. % HlcH
D. ¥ 38 T

Question Number : 26 Question Id : 97675510605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What temperature is known as the lowest temperature at which a substance can catch fire?
Options :

A. ¥ Ignition Temperature

B. # Fire Temperature

C. # Oxidization Temperature

D. # Flaming Temperature

Question Number : 26 Question Id : 97675510605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fo ITIHM P 98 YAaH YA HET SITd g ford TR B1s Uard 3{F Udhs bl 87
Options :

A. ¥ Sddf- dUHIA

B. ¥

ST dTYHTA

C. =




3HTRITHUT ATTHT
D. #
Sddd digH =

Question Number : 27 Question Id : 97675510606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number of kingdom classifications was initially proposed by R.H. Whittaker in the year 1969?
Options :

A %3

B. ¥ 5

C. %7

D. # 12

Question Number : 27 Question Id : 97675510606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ay 1969 H SR TF. feg R gRTURY H foba Siia aeffepzur garfad fbw 71q 22
Options :

A ®3

B. ¥ 5

C. %7

D. ¥ 12

Question Number : 28 Question Id : 97675510607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first woman in the world to reach the summit of Mt. Everest?
Options :

A. % Edmund Hillary

B. # Tenzing Norgay

C. ¥ Junko Tabei



D. #* Bachendri Pal

Question Number : 28 Question Id : 97675510607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TaE & R W UgeH arelt gfam &1 ugelt Afgar o At
Options :

A *

weHs fRert
B. #
cEISHE
c.v

Sip! dTes
D. #

e rd

Question Number : 29 Question Id : 97675510608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the small strip of land that connects the North America and the South America?
Options :

A. ¥ Isthmus of Panama

B. # Suez Canal

C. # Adam's Bridge

D. # Bermuda Strip

Question Number : 29 Question Id : 97675510608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST SHNRDT 3R Sfer ARG Bl SIS arelt YfH B ug! &I 31 A1 82

Options :
A. ¥ UAHT YSHXHY



B. %
TS T
C. %
TSN foe

D. # FXHST Ug!

Question Number : 30 Question Id : 97675510609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did Buddha attain enlightenment?
Options :

A. ¥ Kusinagara

B. # Sarnath

C. # Lumbini

D. ¥ Bodh Gaya

Question Number : 30 Question Id : 97675510609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
95 B T E O BEEE e
Options :

A ®

B. #

NIRGIE

C. %

SIESEIl

D. ¢ Y T

Question Number : 31 Question Id : 97675510610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where was the Muslim League established in the year 1906?
Options :

A. # Lucknow

B. ¥ Dhaka

C. # Lahore

D. # Calcutta

Question Number : 31 Question Id : 97675510610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1906 T GRETH o7 &1 RATTT FHal g5 &
Options :

A. # UGS

B. ¥

Glhl

C =

ARR

D. ® heidhdl

Question Number : 32 Question Id : 97675510611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many sessions were organized by the Constituent Assembly while discussing the draft Constitutions before finalizing the Constitution of
India?

Options :

A . %9

B. % 7

C. %12

D. ¥ 11

Question Number : 32 Question Id : 97675510611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRA & TG PI ifdH T4 <7 T Ugd Wau™ & UReT W I dd gu AU THT §RT b= T3 SHTaiford farg g a2
Options :

A %9

B. % 7

C. % 12

D. ¥ 11

Question Number : 33 Question Id : 97675510612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who served as the first ever Chairman of the Constituent Assembly before the appointment of Dr. Rajendra Prasad?
Options :

A. ¥ Dr Sachidanand Sinha

B. # Dr BR Ambedkar

C. # Pt. Jawaharlal Nehru

D. #* Dr AK Ayyar

Question Number : 33 Question Id : 97675510612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, 31oig TTE Bt Fgfaa I ugd foram Tfaum IHT & Ugd Siegel & U H S fohar
Options :

A &

S Jferara R

B. ®

ST ol 3R SFgDH

C. % U, SaTgx Al g%

D. #

S Ud SR




Question Number : 34 Question Id : 97675510613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many schedules were there in the original text of the Constitution of India?
Options :

A . ¥8

B. %9

C. %10

D. # 12

Question Number : 34 Question Id : 97675510613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URd o Afqu™ & Hol Ulo ¥ forat GIE],&%PJT (Schedules) &1?
Options :

A ¥ 38

B. ¥ 9

C. %10

D. ¥ 12

Question Number : 35 Question Id : 97675510614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the only woman in the world to have received multiple Nobel Prizes?
Options :

A. % Mother Teresa

B. # Jane Addams

C. ¥ Marie Sktodowska Curie

D. # Aung San Suu Kyi

Question Number : 35 Question Id : 97675510614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3y ¥ 1 § 31 FI9d RIGR U HRA dTcil THHT Higell DI 82
Options :

A #

HeR &I

B. #

EEluc|

C.v
BRI EEA IR g ke
D. #

AT AT G B

Question Number : 36 Question Id : 97675510615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the book "Untouchable"?
Options :

A. # Mahatma Gandhi

B. ¥ BR Ambedkar

C. ¥ Mulk Raj Anand

D. ¥ Khushwant Singh

Question Number : 36 Question Id : 97675510615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 o "sicaaa” AH® e & dus U2
Options :

A. * HETHT Tieht

B. #

ISR SFEDHR

C.¢

Hewh S 3G



D. #

RERERIRK

Question Number : 37 Question Id : 97675510616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of The Board of Control for Cricket in India located?
Options :

A. % Bangalore

B. ¥ Mumbai

C. # New Delhi

D. # Pune

Question Number : 37 Question Id : 97675510616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR fohdhe deld |18 (BCCI) ST AT Hal (dd 82
Options :

A ®

TR

B. ¢

EH
c.®
¢ fereet

D. #

o

Question Number : 38 Question Id : 97675510617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which woman tennis player recently emerged as the winner of the Australian Open 2021?

Options :



A. % Naomi Osaka
B. * Serena Williams
C. # Maria Sharapova

D. * Martina Navratilova

Question Number : 38 Question Id : 97675510617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafeaa # 3 frg afeer e faarest 3 gra €1 1 sifeeferam siiu= 2021 Sftar g2
Options :

A IS 3T

B. # 1 faferaey

C.
AT IRTITET
D. % {iféar Taxfaetiarn

Question Number : 39 Question Id : 97675510618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whose Birth Anniversary shall be celebrated as Parakram Diwas on 23rd January each year?
Options :

A. ¥ Netaji Subhas Chandra Bose

B. *¥ Bhagat Singh

C. # Jawaharlal Nehru

D. # Lal Bahadur Shastri

Question Number : 39 Question Id : 97675510618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad 7 T fege! SRidt vde 9y 23 el ) WRIhH fead & =0 # 7418 Sueit?

Options :



A. ¢ TSl GHY 9% S
B. ¥ Wi Rig

C. %

SIaTgR A "B

D. #

Te SETgR Tl

Question Number : 40 Question Id : 97675510619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country's military contingent participated in the Indian Republic Day Parade on 26th January 2021?
Options :

A. # France

B. # United Kingdom

C. * Bhutan

D. ¥ Bangladesh

Question Number : 40 Question Id : 97675510619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o § frg =1 &t S0 el A 26 AN 2021 P YRR 70K faw s & H feram
Options :

A ®

aR

B. ¥ gA13cs fdhred

C. # HcH

D. ¥ SATGEI
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Group Number : 3



Group Id : 976755296
Group Maximum Duration : 0

Group Minimum Duration : 0
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Group Marks : 20
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Arithmetic Ability

Section Id : 976755621
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755736
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675510620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

V2704 %3 +246-332-189-9="?
Options :
A. ¥ 49
B. ¥ 43
C. % 53



D. # 59

Question Number : 41 Question Id : 97675510620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou T i H Uy g (2) o R IR 37 ST
V2704 x 3 +246-332-189+9="2

Options :

A. ¥ 49

B. % 43

C. % 53

D. # 59

Question Number : 42 Question Id : 97675510621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the values of a + b in the equation below.

4[5.!5})( 11[13}= 161 & - 43.-!5 w 114—}:
Options :

A =7

B. ¥ 9

C. %8

D. = 11

Question Number : 42 Question Id : 97675510621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A faU 7T THBROT H a + b BT HH J1d B

A3/6)  11012)= 1626 x 42/6 x 114D
Options :



A =7
B. ¥ 9
C.#8
D. # 11

Question Number : 43 Question Id : 97675510622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 9-digit number 206x46920 is exactly divisible by 9, then which among the following can be the value of (x2 -3x +5)?
Options :

A. * 29

B. ¥ 33

C. = 31

D. # 40

Question Number : 43 Question Id : 97675510622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 9-3fH T TJAT 20646920, 9 T Yuid: fauToTd B, df FEfefaa B (2 - 3x + 5) ST A &1 81 Yobdl g2
Options :

A. *# 29

B. ¥ 33

C. # 31

D. # 40

Question Number : 44 Question Id : 97675510623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the maximum number of students among whom 63 pens and 98 copies can be distributed in such a way that each student gets the same
number of pens and the same number of copies.

Options :
A %2



B. #5
C.®3
D.¥7

Question Number : 44 Question Id : 97675510623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 BT B 3fABTH TBAT J1d BT 5P S1F 63 U 3R 98 HITUTT 59 YR IR B & Tob fb YD D bl JHM T H U 3R
A AT § Hitudt ured 8|

Options :

A %2

B. %5

C. %3

D. ¥ 7

Question Number : 45 Question Id : 97675510624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions.
Options :
20
A % 181

95
B % 201

76
C #® 199

58
D.« 171



Question Number : 45 Question Id : 97675510624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad el & 3 Ter Bict fiel ;d Bt |
Options :

20
A % 121

95
B % 201

76
C. ® 199

58
D. 171

Question Number : 46 Question Id : 97675510625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 years ago, the average age of a family of 6 members was 32 years. The present average age is also 32 years after including a child into a family.
Find the age of the child.

Options :

A. # 12 years
B. # 7 years

C. % 6 years

D. ¢ 8 years

Question Number : 46 Question Id : 97675510625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4ﬁW§W$wWﬁﬁwmszaﬁﬁl OIRAR B U& o= B AMHA B & a1 H IIHH S 17 32 T 5| = Bt
3T I |




Options :

A % 1279
B. ¥ 794
C. % 6y
D. ¥ 8Ty

Question Number : 47 Question Id : 97675510626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 percent of a number is equal to four-seventh of another number. What is the ratio between the first number and the second number
respectively?

Options :
A. = 4.7
B. # 5.7
C.# 74
D. ¥ 10:7

Question Number : 47 Question Id : 97675510626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST BT 40 UTIRI, T TSAT P 4/7 HIT & SRTR & | TGl TAT 3R GIRT G- & §1d BT SUTd HHLT: FT 82
Options :

A. = 4.7

B. % 5.7

C. % 74

D. ¥ 10:7

Question Number : 48 Question Id : 97675510627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, 68 percent of candidates passed in mathematics and 62 percent of the candidates passed in statistics. While 40 percent passed
in both the subjects. If 30 candidates failed in both these subjects, then the total number of candidates were:



Options :
A. * 600
B. # 180
C. # 450
D. ¥ 300

Question Number : 48 Question Id : 97675510627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP W1 H, 68 Ufa=ra uRiemdf 1o & iR 62 ufcr=d altemif wiers! & Iiiol guI Siafes 40 Uia=id aiH! o & Sitol gul afe 3 gt
faert & 30 TRigmef srciol gU, o pat fobam atemdf 2o

Options :

A. * 600

B. # 180

C. % 450

D. # 300

Question Number : 49 Question Id : 97675510628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling a book for Rs.1512 a retailer got 5.5 percent loss after allowing a discount of 10 percent. What is the marked price if he wants to get
20 percent profit after allowing a discount of 20 percent?

Options :

A. ¥ Rs.2400
B. ® Rs.2500
C. % Rs.2200
D. % Rs.1920

Question Number : 49 Question Id : 97675510628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 Gf=Td &1 FT & & d1G Ueb fohdTd B 1512 TY H od- TR Uh Beh fdshal ol 5.5 TR DT THAM §3HT| Ffe I8 20 U= Bt e




& & TG 20 UTIRTd ST UTTd 1 A1l 8, ol 39 fobara 1 sifdhd Hed o1 g
Options :

A. ¥ 2400 3TY

B. ¥ 2500 304

C. ¥ 2200 300

D. ¥ 1920 304

Question Number : 50 Question Id : 97675510629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vessel contains 54 litres mixture of honey, milk and water in the ratio of 3:4:5 respectively. 1.5 litres of honey and 2 litres of milk is added to
this mixture. Find the new ratio of honey, milk and water in the vessel.

Options :

A. *® 543
B. # 5:6:7
C. ¥ 6:8:9
D. # 4:5:6

Question Number : 50 Question Id : 97675510629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP i H 54 TeR 6G, G 3R U BT HYUT HHRT: 3:4:5 P SU H 5| 3 WY H 1.5 THex UGG 3R 2 Tex go &l A S g
g H Xge, g SR U BT 7T SUTd J1d 3|

Options :

A. % 543

B. % 5:6:7

C. ¥ 6:8:9

D. # 4:5:6

Question Number : 51 Question Id : 97675510630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



5 years from now, the ratio of ages of A, B and C will be 3:5:2. The sum of their present ages is 125 years, what is the present age of C?
Options :

A. # 20 years

B. # 28 years

C. ¥ 23 years

D. # 25 years

Question Number : 51 Question Id : 97675510630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 5 TY TIE, A, B 3R C P 3T 6T UM 3:5:2 B S| 3P IAHH 3R BT ANT 125 T4 §, C BT gHH 311 farait g2
Options :

A. % 2099

B. % 28 Y

C.¥23qY

D. ¥ 2534

Question Number : 52 Question Id : 97675510631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what time will Rs.1250 amount to Rs.1475 at 6 percent per annum?
Options :

A. # 2 years

B. ¥ 3 years

C. # 4 years

D. # 5 years

Question Number : 52 Question Id : 97675510631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 Ufa=ra ufaay sarel &1 = I fods g H 1250 ST B AR, 1475 STY Y AW

Options :



A %2739
B. ¥ 334
C. % 474
D. % 599

Question Number : 53 Question Id : 97675510632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the time taken by a boatman to travel a distance of 150 km downstream where downstream speed of boatman is 250 percent of upstream
speed of boatman. Speed of stream is 15 km/hr.

Options :

A. #* 4 hours
B. ¥ 3 hours
C. #* 5 hours
D. * 6 hours

Question Number : 53 Question Id : 97675510632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh Afdeb gRT 150 fob il g2t 4RT b1 = & a0 D H a1 0g i af A1fde &1 4RT o fa=n 4 71fd, i &t ¢R1 & fausid fazn 4
Tfd &7 250 UfaRd g1 URT b1 71fY 15 fpet we g1

Options :
A %41
B. ¥ 34c
C. % 549
D. % 64c¢

Question Number : 54 Question Id : 97675510633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person travels equal distances with speeds of 3 km/hr, 4 km/hr and 5 km/hr and takes a total time of 47 minutes. The total distance (in km) is:
Options :



A %2
B. ¥ 3
C.% 4
D. ®5

Question Number : 54 Question Id : 97675510633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS e 3 farei/eer, 4 foe/eer 3R 5 foefi/eer &t ifa & a1y T gRET &t O axal § IR $dt 47 e &1 90g ddT 8| o gul
(et 7 %

Options :

A ®2

B. ¥ 3

C. % 4

D. %5

Question Number : 55 Question Id : 97675510634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of ‘m’ men can do a certain work in 20 days. If there were 3 less men in the group, then it would have taken 4 more days to complete the
same work. How long would a group of (m — 6) men take to do the work?

Options :

A. # 28 days
B. # 36 days
C. ¥ 30 days
D. # 32 days

Question Number : 55 Question Id : 97675510634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
m' I8 &1 99g 20 faAi # 1o FfYd &1 &1 1 3% gohan g1 afe T & 19 730 &1 o fau o, @t I3 &1 &1 1 v | 4 & saren
WA g1 I BT DI (m - 6) T b THT T R B 2




Options :

A. % 28 feq
B. # 36 e
c. ¢ 30fea
D. % 32f¢d

Question Number : 56 Question Id : 97675510635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the numerical value of the perimeter of an equilateral triangle is 4V3 times its area, then find the length of each side of the triangle.
Options :

A. ¥ 1 unit

B. # 3 unit

C. * 4 unit

D. # 2 unit

Question Number : 56 Question Id : 97675510635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHaETg YT & URHTT BT ST 71, 3% &6 HT 443 T €, At HYS & TAS Yol B avals J1d e |
Options :

A ¥ 13

B. ¥ 33®15

C. % 43Pl5

D. ¥ 23&[S

Question Number : 57 Question Id : 97675510636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Curved surface area of a right circular cone is 396 cm?. If its slant height is 5 cm more than its radius, then calculate closest value for its height
(in cm).



(Use w=22/7)
Options :
A.*9

B. ¥ 11

C. % 13

D. # 14

Question Number : 57 Question Id : 97675510636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I 94 P BT aBHYS I 8A%hd 396 I GHT g | Tfe STqP! [ ST, SUH! Hod I 5 THT 31 5, A 39d! SHars (I H) &
pcad A1 & T B (n = 22/7 BT TGN HY)

Options :

A. %9

B. ¥ 11

C. % 13

D. % 14

Question Number : 58 Question Id : 97675510637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the marks of a student in an exam.

Subject Max. Marks
marks obtained
Hindi 100 74
English 50 47
Math 150 124
Science 100 73
el 50 47
Science

What is the percentage of marks for the student in all the subjects put together?




Options :

A. ¥ 80 percent
B. # 72 percent
C. # 75 percent
D. # 84 percent

Question Number : 58 Question Id : 97675510637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g arfereT U Uian & U o & Sihl Bl Tl ¢

oy | sfOFaR s | TAHF

far 100 74
FAr=Er 50 42
o 150 124
CEIGH 100 73
HIHI TS
M 50 47

it fawat o firemes o1 o1 ufawrd sie fad-r 82

Options :

A. ¢ 80 Tfc=Id

B. % 72 Ufa=rd

C. % 75 yfawrd

D. ¥ 84 Yfa=rd

Question Number : 59 Question Id : 97675510638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the marks of a student in an exam.



Subject Max. Ma rks
marks obtained
Hindi 100 74
English 5 42
Math 150 124
Science 100 73
sl 50 47
Science

In how many subject, percentage marks obtained by the student in each subject is more than his overall percentage marks?
Options :

A * 1

B. % 2

C. =4

D. ¥ 3

Question Number : 59 Question Id : 97675510638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g a1fereT T ulen # U 313 & 3! oI g g

frag | afFaraAs | A AT
féar 100 74
AT 50 42
aoTT 150 124
GEIGH 100 73
50 47
CEIGI
foraa fasll &, BT gRT Ud® fawa & UTe ufawia 3ic, 9% d Ufa=id it § i 79
Options :

A %]



B. ¥ 2
C. %4
D. ¥ 3

Question Number : 60 Question Id : 97675510639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given bar graph shows the number of burgers and pizzas sold by an outlet on different days of a week.

Number of burgers and pizzas sold
by an outlet

350

320 320

300

250

200 -
150 -
100
50 4

hionday Tuesday Wedtesday Thursday Friday

wBurgers wPizzas

Find the ratio of number of burgers sold on Wednesday to the number of pizzas sold on Tuesday.
Options :
A. % 54
B. ¥ 4:3
C. %322
D. # 2:1

Question Number : 60 Question Id : 97675510639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



QU U SR U # U quie & fafia il & U g R od OF aTdd a7 3R U &1 e &1 a=1far T g |

mw#mmﬁm%hﬁﬁm

HHaR FEEER UGy IEET YA
“aeir "mEear
FYIR B! 99 T TR B ASAT 3R HITAGR 1 o T FUST St AT BT ST 1d Be |
Options :
A ¥ 54
B. ¥ 4.3
C. %322
D. ¥ 2:1
General English
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Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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Group Marks : 20



Is this Group for Examiner? : No

General English
Section Id : 976755622
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
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Sub-Section Id : 976755737
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675510640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

A. ¥ Cyber fraudsters keeps finding new ways to scam people.

B. #* The only way to beats the cybercriminals is to be alert and to be aware.

C. % The State Bank of India (SBI) has a warning for there customers.

D. ¥ The post also has a link to reliable details on EMI Deferment Scheme offered by SBI.

Question Number : 61 Question Id : 97675510640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :



A. # Cyber fraudsters keeps finding new ways to scam people.

B. # The only way to beats the cybercriminals is to be alert and to be aware.

C. # The State Bank of India (SBI) has a warning for there customers.

D. ¢ The post also has a link to reliable details on EMI Deferment Scheme offered by SBI.

Question Number : 62 Question Id : 97675510641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error If there is no error, select No error as option.

Education helps us understand and tolerate differences and so holds out the promise that we can live together harmoniously.
Options :

A. # Education helps us understand and tolerate differences

B. # and so holds out the promise

C. % that we can live together harmoniously

D. ¥ No error

Question Number : 62 Question Id : 97675510641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error If there is no error, select No error as option.

Education helps us understand and tolerate differences and so holds out the promise that we can live together harmoniously.
Options :

A. # Education helps us understand and tolerate differences

B. ® and so holds out the promise

C. # that we can live together harmoniously

D. ¥ No error



Question Number : 63 Question Id : 97675510642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

Several research groups are now trying to answer these questions using a combination of observational, computational, and experimental
approaches.

Options :

A. # observationally, computationally, and experimentally approaches.
B. # observation, computation, and experiment approaches.

C. # observational, computational, and experimentation approaches.

D. # No substitution required.

Question Number : 63 Question Id : 97675510642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

Several research groups are now trying to answer these questions using a combination of observational, computational, and experimental
approaches.

Options :

A. ¥ observationally, computationally, and experimentally approaches.
B. # observation, computation, and experiment approaches.
C. ¥ observational, computational, and experimentation approaches.

D. ¥ No substitution required.

Question Number : 64 Question Id : 97675510643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.



In the first two decade of the 21st century, India has, along with the rest of the world, witnessed the unfolding of rapid and significant
technological change.

Options :

A. # the two first decades
B. ¥ the first two decades
C. # first two decades

D. #* No substitution required

Question Number : 64 Question Id : 97675510643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

In the first two decade of the 21st century, India has, along with the rest of the world, witnessed the unfolding of rapid and significant
technological change.

Options :

A. # the two first decades
B. ¢ the first two decades
C. # first two decades

D. #* No substitution required

Question Number : 65 Question Id : 97675510644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

People can advise me, he said, at the end of the day I make the decisions about my health.
Options :

A. # and

B. ¥ but

C. % 50

D. # as



Question Number : 65 Question Id : 97675510644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

People can advise me, he said, at the end of the day I make the decisions about my health.
Options :

A. #* and

B. ¥ but

C. * s0

D. # as

Question Number : 66 Question Id : 97675510645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A low-carb diet your carbohydrate intake - such as those found in grains, legumes, pulses, bread, starchy vegetables, and fruits.
Options :

A. # frames

B. # outlines

C. ¢ limits

D. * enlarges

Question Number : 66 Question Id : 97675510645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A low-carb diet your carbohydrate intake - such as those found in grains, legumes, pulses, bread, starchy vegetables, and fruits.
Options :

A. # frames



B. #* outlines
C. ¥ limits

D. # enlarges

Question Number : 67 Question Id : 97675510646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. He launched and promoted the local produce- Bamboo Flower rice as an ‘economically profitable’ product.

Q. As the nation goes vocal for local, Chief Minister of Tripura, Biplab Kumar Deb took a step ahead.

R. The extraction of this rice takes years to cultivate as bamboo flowers in the form of a short grain rice.

S. Bamboo Rice also known as Mulayari is actually the seed of a dying bamboo shoot, which is produced at the end of its life span.

Options :

A. # PQRS
B. ¥ RQPS
C. ¥ QPSR
D. # SRQP

Question Number : 67 Question Id : 97675510646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. He launched and promoted the local produce- Bamboo Flower rice as an ‘economically profitable’ product.

Q. As the nation goes vocal for local, Chief Minister of Tripura, Biplab Kumar Deb took a step ahead.

R. The extraction of this rice takes years to cultivate as bamboo flowers in the form of a short grain rice.

S. Bamboo Rice also known as Mulayari is actually the seed of a dying bamboo shoot, which is produced at the end of its life span.

Options :

A. # PQRS
B. ¥ RQPS
C. ¥ QPSR
D. # SRQP



Question Number : 68 Question Id : 97675510647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

(P) Tom's weakest subject was Chinese.

(Q) So, for the past half a year, his mother had engaged a private tutor to give him supplementary lessons to brush up on his Chinese.
(R) This was his first major national examination and they both did not know what to expect.

(S) Mrs Tan was feeling a lot of stress because her son's examination was approaching.

Options :

A. * PSQR
B. # QSPR
C. % RPSQ
D. ¥ SRPQ

Question Number : 68 Question Id : 97675510647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

(P) Tom's weakest subject was Chinese.

(Q) So, for the past half a year, his mother had engaged a private tutor to give him supplementary lessons to brush up on his Chinese.
(R) This was his first major national examination and they both did not know what to expect.

(S) Mrs Tan was feeling a lot of stress because her son's examination was approaching.

Options :

A. * PSQR
B. # QSPR
C. % RPSQ
D. ¥ SRPQ

Question Number : 69 Question Id : 97675510648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.



INTRIGUE
Options :

A. # Bore
B. ® Burrow
C. # Sink
D. ¥ Attract

Question Number : 69 Question Id : 97675510648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

INTRIGUE
Options :

A. * Bore
B. ¥ Burrow
C. # Sink
D. ¥ Attract

Question Number : 70 Question Id : 97675510649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

VESTIBULE
Options :
A. # Lay
B. # Endow
C. # Lodge
D. ¥ Exit

Question Number : 70 Question Id : 97675510649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

VESTIBULE
Options :
A. * Lay
B. # Endow
C. # Lodge
D. ¥ Exit

Question Number : 71 Question Id : 97675510650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

A. # Porportionate

B. # Proprotionate

C. ¥ Proportionate

D. # Proprotionte

Question Number : 71 Question Id : 97675510650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

A. *# Porportionate

B. #* Proprotionate

C. ¥ Proportionate

D. * Proprotionte

Question Number : 72 Question Id : 97675510651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

A. ¥ Salry

B. # Sacrifice

C. % Sacrilegious

D. # Schedule

Question Number : 72 Question Id : 97675510651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

A. ¥ Salry

B. # Sacrifice

C. # Sacrilegious

D. # Schedule

Question Number : 73 Question Id : 97675510652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Hit the nail on the head

Options :

A. # An ideal situation

B. ¥ Be accurately right about something
C. % Make a problem worse

D. # To get upset

Question Number : 73 Question Id : 97675510652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Hit the nail on the head

Options :

A. # An ideal situation

B. ¥ Be accurately right about something
C. # Make a problem worse

D. # To get upset

Question Number : 74 Question Id : 97675510653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

The effort to trace the culprit was a wild goose chase.
Options :

A. #* Fruitful hunting

B. ¥ Futile search

C. * Ideal secking

D. * Genuine effort

Question Number : 74 Question Id : 97675510653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

The effort to trace the culprit was a wild goose chase.
Options :

A. # Fruitful hunting

B. ¥ Futile search

C. * Ideal secking

D. # Genuine effort



Question Number : 75 Question Id : 97675510654 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Form of society in which the Mother or Female is head of the family.
Options :

A. ¥ Monarchy

B. ¥ Matriarchy

C. % Patriarchy

D. # Hierarchy

Question Number : 75 Question Id : 97675510654 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Form of society in which the Mother or Female is head of the family.
Options :

A. # Monarchy

B. ¥ Matriarchy

C. # Patriarchy

D. * Hierarchy

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

2
976755738
Yes

Question Id : 97675510655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Late at night, guards on the battlements of Denmark's Elsinore castle are met by Horatio, Prince Hamlet's friend from school. The guards describe



a ghost they have seen that resembles Hamlet's father, the recently-deceased king. At that moment, the Ghost reappears, and the guards and
Horatio decide to tell Hamlet.

Claudius, Hamlet's uncle, married Hamlet's recently-widowed mother, becoming the new King of Denmark. Hamlet continues to mourn for his
father's death and laments his mother's lack of loyalty. When Hamlet hears of the Ghost from Horatio, he wants to see it for himself.

Elsewhere, the royal attendant Polonius says farewell to his son Laertes, who is departing for France. Laertes warns his sister, Ophelia, away
from Hamlet and thinking too much of his attentions towards her.

The Ghost appears to Hamlet, claiming indeed to be the ghost of his father. He tells Hamlet about how Claudius, the current King and Hamlet's
uncle, murdered him, and Hamlet swears vengeance for his father. Hamlet decides to feign madness while he tests the truth of the Ghost's
allegations (always a good idea in such situations).

According to his plan, Hamlet begins to act strangely. He rejects Ophelia, while Claudius and Polonius, the royal attendant, spy on him. They had
hoped to find the reason for Hamlet's sudden change in behaviour but could not. Claudius summons Guildenstern and Rosencrantz, old friends of
Hamlet to find out what's got into him. Their arrival coincides with a group of travelling actors that Hamlet happens to know well. Hamlet writes
a play which includes scenes that mimic the murder of Hamlet's father. During rehearsal, Hamlet and the actors plot to present Hamlet's play
before the King and Queen.

Sub questions

Question Number : 76 Question Id : 97675510656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Hamlet want to kill his uncle Claudius?
Options :

A. # because Claudius was a vicious king of Denmark
B. # because his mother was killed by Claudius

C. ¥ because his uncle Claudius murdered his father

D. # because he wanted to get married to Ophelia

Question Number : 77 Question Id : 97675510657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why did Hamlet lament on his mother’s lack of loyalty?
Options :

A. # because she abandoned Hamlet and punished him many times



B. # because she expelled fiancé Ophelia from her empire
C. % because she did not liked Hamlet’s uncle Claudius to be the king

D. % because she married his uncle Claudius, after the death of Hamlet's father

Question Number : 78 Question Id : 97675510658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Claudius and Polonius spy on Hamlet?

Options :

A. ¥ because they wanted to find sudden change in Hamlet’s behaviour

B. # because they wanted to know what hamlet’s friends are conspiring against them
C. # because they were very much feared from the ghost of Hamlet’s father

D. # because they wanted to expel Hamlet and his mother from the their empire

Question Number : 79 Question Id : 97675510659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Summon”?
Options :

A. # send for

B. # call for

C. # convoke

D. ¢ discharge

Question Number : 80 Question Id : 97675510660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

A. # Hamlet writes a play which includes scenes that mimic the murder of Hamlet's father.
B. ¥ When Hamlet hears of the Ghost from Ophelia, he wants to see it for himself.

C. ® Hamlet decides to feign madness while he tests the truth of the Ghost's allegations.
D. # Hamlet rejects Ophelia, while Claudius and Polonius, the royal attendant, spy on him



Question Id : 97675510655 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Late at night, guards on the battlements of Denmark's Elsinore castle are met by Horatio, Prince Hamlet's friend from school. The guards describe
a ghost they have seen that resembles Hamlet's father, the recently-deceased king. At that moment, the Ghost reappears, and the guards and
Horatio decide to tell Hamlet.

Claudius, Hamlet's uncle, married Hamlet's recently-widowed mother, becoming the new King of Denmark. Hamlet continues to mourn for his
father's death and laments his mother's lack of loyalty. When Hamlet hears of the Ghost from Horatio, he wants to see it for himself.

Elsewhere, the royal attendant Polonius says farewell to his son Laertes, who is departing for France. Laertes warns his sister, Ophelia, away
from Hamlet and thinking too much of his attentions towards her.

The Ghost appears to Hamlet, claiming indeed to be the ghost of his father. He tells Hamlet about how Claudius, the current King and Hamlet's
uncle, murdered him, and Hamlet swears vengeance for his father. Hamlet decides to feign madness while he tests the truth of the Ghost's
allegations (always a good idea in such situations).

According to his plan, Hamlet begins to act strangely. He rejects Ophelia, while Claudius and Polonius, the royal attendant, spy on him. They had
hoped to find the reason for Hamlet's sudden change in behaviour but could not. Claudius summons Guildenstern and Rosencrantz, old friends of
Hamlet to find out what's got into him. Their arrival coincides with a group of travelling actors that Hamlet happens to know well. Hamlet writes
a play which includes scenes that mimic the murder of Hamlet's father. During rehearsal, Hamlet and the actors plot to present Hamlet's play
before the King and Queen.

Sub questions

Question Number : 76 Question Id : 97675510656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Why did Hamlet want to kill his uncle Claudius?
Options :

A. % because Claudius was a vicious king of Denmark
B. # because his mother was killed by Claudius

C. ¥ because his uncle Claudius murdered his father

D. # because he wanted to get married to Ophelia

Question Number : 77 Question Id : 97675510657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Hamlet lament on his mother’s lack of loyalty?

Options :

A. % because she abandoned Hamlet and punished him many times
B. # because she expelled fiancé Ophelia from her empire

C. # because she did not liked Hamlet’s uncle Claudius to be the king

D. ¥ because she married his uncle Claudius, after the death of Hamlet's father

Question Number : 78 Question Id : 97675510658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Claudius and Polonius spy on Hamlet?

Options :

A. ¥ because they wanted to find sudden change in Hamlet’s behaviour

B. # because they wanted to know what hamlet’s friends are conspiring against them
C. # because they were very much feared from the ghost of Hamlet’s father

D. # because they wanted to expel Hamlet and his mother from the their empire

Question Number : 79 Question Id : 97675510659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following best expresses the opposite meaning to the given word “Summon”?
Options :



A. # send for
B. # call for
C. # convoke
D. ¢ discharge

Question Number : 80 Question Id : 97675510660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

A. # Hamlet writes a play which includes scenes that mimic the murder of Hamlet's father.
B. ¥ When Hamlet hears of the Ghost from Ophelia, he wants to see it for himself.

C. # Hamlet decides to feign madness while he tests the truth of the Ghost's allegations.
D. ¥ Hamlet rejects Ophelia, while Claudius and Polonius, the royal attendant, spy on him
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Question Number : 81 Question Id : 97675510661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR ¥ g eR" § oF-3 i g?
Options :

A. ot |fy

B. % oTiul Y

C. % 3ic °iy

D. ® U Y

Question Number : 81 Question Id : 97675510661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Areffed 19 eedR: & S99 92
Options :

A. ¢ ot |fy

B. % otiu HfY

C. % 3fe °fY

D. % gurHiY

Question Number : 82 Question Id : 97675510662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAEfoRad # O TaH eg &1 99 BHIfoTe-
Options :

A. ® Ul

B. ¥ Ta{xR

C. ® qOg

D. ¥ TR

Question Number : 82 Question Id : 97675510662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed ¥ ¥ d@H g &1 994 BIfoTe-
Options :

A. % Ul

B. ¥ XX

C. % gHd

D. % ¥R

Question Number : 83 Question Id : 97675510663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafied o 9 aftdet 2reg & SiF-91 Suf g2

Options :

Question Number : 83 Question Id : 97675510663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ refede e § H-a1 IuEi 82



Options :

Question Number : 84 Question Id : 97675510664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrffed o & $1H-91 X1eg HTaaTad T 61 IETER0 a1 82
Options :

A. % @i

B. ¥ $HAMGRI

C. & Tg-dI

D. # dGIR

Question Number : 84 Question Id : 97675510664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR o ¥ H-3T1 16 HTaaTad W31l BT 3GIex Tl 62
Options :

A. % TRl

B. % SHMGRI

C. ® Tg-dI

D. ¢ d[WR

Question Number : 85 Question Id : 97675510665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafead # @ que &1 gafgard weg S 8?

Options :



A. % fay
B. ¥ 3
C. %3

D. % g9

Question Number : 85 Question Id : 97675510665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad & ¥ "y &1 yafuarh wes HH-a1 82
Options :

A. % fay

B. ¥ §gX

C. %Y

D. ¥ 89

Question Number : 86 Question Id : 97675510666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 acH! aTd Xeg BT 99 HIfoTe-
Options :

A. ¢ FIfbEnTg

B. ¥ SffHeTal

C. % IDhddrd

D. ¥ 9%d

Question Number : 86 Question Id : 97675510666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ Y[ T a1 Xeq BT 99 HIToTE-

Options :

A. ¥ RIfbdrTg



B. % 3=
C. % Yhdared
D. % 9%

Question Number : 87 Question Id : 97675510667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRed & @ dH &1 3 e HIF-I1 82
Options :

A. % 300d

B. % forqumdt

C. % @I

D. " HWdl

Question Number : 87 Question Id : 97675510667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRI 8 @ e &1 R T -
Options :

A. % 30d

B. % forqumt

C. % M

D. & H3Rdl

Question Number : 88 Question Id : 97675510668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT Ueh Req BT =TT HITTT-

a1 fa=man & diw o1 fg=m

Options :



A. ¥ 35—
B. ¥ 3Ug!

C. ¢ JUfeam
D. % JHTT

Question Number : 88 Question Id : 97675510668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRIT=T & foTT Ueh Xeg b1 T HITOTL-

g1 fa=maf & dta o1 fgzm
Options :

A. ® i

B. % JUgl

C. ¢ Jufeam

D. #® JHMHI

Question Number : 89 Question Id : 97675510669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa & T fear mn a1 e &1d &1 3SR 82
"1 T off Tal oI

Options :

A. ¢ 3 YdHTd

B. % YT Yfd® BId
C. % 3~ YdobId

D. ¥ JUf gaq P1d

Question Number : 89 Question Id : 97675510669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad 7 9 foar mar 9 fog o1d &1 e g?
"1 Ipd ST aT o1

Options :

A. ¥ Ul YdBTd

B. # YT YidH HTd
C. % 3~ YdPTdl
D. ® quf gfHH &1d

Question Number : 90 Question Id : 97675510670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfIRIT & 9§ Thadd sg &1 9 Difod-
Options :

A. % JdNTOT

B. ¥ UI&Hhdq

C. ¥ YHDHTI

D. ¢ fazm

Question Number : 90 Question Id : 97675510670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfoRad # ¥ Udhadd Xeg &1 I9 HIfoTt-
Options :

A. % SARTOT

B. ¥ UI&hdq

C. ¥ YHHA]

D. ¢ fa=m

Question Number : 91 Question Id : 97675510671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fAefead # @ o1-a1 areg iy areg 781 82
Options :

A. ¢ TROT 3R 3o 1Y &1 | ]

B. ¥ i Uil 9 ST ol q@T IS e |

C. % 3Rt g fob 98 R T

D. # HId JATE gl ST o) 3119 S Y 8l

Question Number : 91 Question Id : 97675510671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT o @ SF-a1 a1 iy ot 781 82
Options :

A. ¢ FHRUT 3R 3 1Y BT A ]

B. % Tf¢ Ul = ST ol @1 US SIe|

C. * 3= § fob 98 SR T

D. % P AT & ST ol 319 5T Fehd Bl

Question Number : 92 Question Id : 97675510672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAeferRad & 4 91 & UbR o1 99 BT
NSEDIREOINUASIREES

Options :

A. ¥ FHgard
B. ¥ HHArA
C. ¥ Yrgar
D. ¥ fohgrar

Question Number : 92 Question Id : 97675510672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAE=fRId O 9 91 & UDHR BT I DIfOTL-
Jeforat faemea o138 8

Options :

A. ¢ Hqard
B. ¥ HHArA
C. % Yrgdr
D. ¥ fohgrary

Question Number : 93 Question Id : 97675510673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRad o @ garavt “3f8 & S I &1 o o g2
Options :

A. ® FEIYad ATHAT BT

B. ¥ & ¥ g1 &1 A1 BT

C. ¥ 3TER-YHR P UG H BT

D. % g DI JBTs &G

Question Number : 93 Question Id : 97675510673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfied o 9 gererT "3fY & S AT o1 o 37 g2
Options :

A. ¥ FEIYAD ITEAT HAT|

B. ¢ TG ¥ g1 &1 A1eH BT

C. ¥ 3TR-YhR P UG H BT

D. % B &I YWBTs faMT|



Question Number : 94 Question Id : 97675510674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafea & T deifed A &) dwal Tod W BT T 31 32
Options :

A. % {5 910 & HRU T P g &S I fHreT S|

B. ¥ [ $o T8 HR &Il

C. ¥ I ¥ 3P I B GW@ H 7|

D. ¥ 3O G BT Y GURI TR ST

Question Number : 94 Question Id : 97675510674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT o T deifad " &) dhal Tod T BT T 31 g2
Options :

A. * {3 919 & HRU IS &I 81 oI I Fer ¢l

B. ® [t $© T8l o G|

C. ¥ T 3fUP a3 ! g J 7 |

D. ¥ 3O PRI BT &N ORI R ST |

Question Number : 95 Question Id : 97675510675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few 7w are | = § § fa favs &1 v far mar g2

Options :

A. ¥ G g
B. ¥ IS0l I8
C. * fqaRur fg
D. # R g



Question Number : 95 Question Id : 97675510675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few e gt ® v § 2 forg formg o1 v fopa T 89

Options :

A. * o fog
B. ¥ IR I8
C. * fqRurforg
D. ¥ 3G g

Sub-Section Number : 2
Sub-Section Id : 976755740
Question Shuffling Allowed : Yes

Question Id : 97675510676 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frAfeRad eI o eaTgde 31erae R U=l & SR alforg-

it e 1 87 Rl &, 78 (el @ | #70 flaR $® 7 3o Ui ] geo1 79d1 81 99 €l 98 Faa el edr &, g w0 A
Ag-sita § faendf w1 9gd der 994 6 8 | T8 %Gﬂﬁ?ﬁ%@ﬁ?w%l faemif-Sia go-g9 &1 94 ¢ | Wa- {qmﬁuels
1 S T Y A BT ¢ | ATAT-IaT AT8-WR &Rd & | URARSH g &1 s § 3@ie 79 &1 el ¢ | 7 U i 97d §, 98-818
! &1 S ST §1g STl § SR e ARUTe, FUTHIE T S Sl ©,0%wg URT 8, T Y, W@ﬂ%qﬁﬁﬁrwa‘rwﬂ%
31 R 13, el I & 1Y 96 HiSl-HS) a1 B P12 ﬁ@ﬁéﬂ%l@ﬁﬁﬁeﬁ?ﬁﬁwﬁmwwﬁwas EREIRIE
7, qurameﬁwgarams‘rm% 3R g8 Ud® faendf & Sfta &1 T eI &1d gidl 5, Sl U [fYd I9a & Uard ¢d Sar g |

Sub questions

Question Number : 96 Question Id : 97675510677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRy o ¥ Swfed TR &1 3fad Mud S 82



Options :

A. % Siia- § el U9 SRI%hddl &l Hed |
B. * 9fRA fAAfon|

c. ¢ fagndf g o1 faxiy ARl

D. % IRz i td SR |

Question Number : 97 Question Id : 97675510678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRrefeed = 9 «sraller e A 1 SHTHUT &2
Options :

A, ¥® IRAR

B. # qgMI

C. ¥ gR

D. ¢ Al

Question Number : 98 Question Id : 97675510679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T & IR I g faemdf g, wife a8
Options :

A. % 3P IS a1 H faemelf siia= g} ot urar g1
B. ¥ A% JHY 70T &3t g1 s argar g
C. ¥ ¥Ued $S 41 YR & 3551 34T 8|

D. % IYHT EHR dgal a1 g

Question Number : 99 Question Id : 97675510680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad T & TR faemf-Siiae &1 SRl TeTE-3TeT Sea! THTW g1 S &1 HRU gl
Options :

A. % TRATAI & gRI WY H Peld! [Hd S BT HI |




B. % IqU & 3fPhdl I8 O BT 4|
C. % 3IHAUD GRI SS [eU S &I HY|
D. ¢ A+ &I Id U4 sk ye Hia-T|

Question Number : 100 Question Id : 97675510681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfafed 8 § <@ &1 fadm e Fg?
Options :

A ¥ g&H

B. ¥ T

C. & Y-l

D. ¥ 9Ud

Question Id : 97675510676 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

ffoiRaa Tt &1 eargdes S HR Ul & IR SifoTe-

ol foren &1 =T 7@ &, I8 faendl 81 I Sl R $© 9 $8 HReH ) 3301 3@dl ¢ | 39 P I a8 Hqd faenf &l ¢, fog - U o
AHa-sita § faendf w1 sgd a1 gwa 78 8 | 8 & g o1 Wi o1d ¢ | faemdf Siad gom-89H &1 970 g | Wa-9d | UeTs
T 31T 3 I A BT 8 | AT1-FaT A1S-wR ok & | IRARSH g &t auf ¥ 3@ty 79 &1 [eierd o | i U P a9 €, 95-818
a8 | HH-F 919 56 STl § SR Fiad ARUTe, STUTUTS e 311 ST 8, 0R-g URT ¥, 9w %14, HSalec gas Ud | &t 7% gl ol ]
3T oI S, v It & 1Y 96 HidI-Hid! aTd B3 o1 22 @ <ar g1 @H-UIA 3R Aisl IS &1 I8 AXAMT HIgH A18 fohd =1 Bl
& 9 8Y, HIEAT 3R YeTa-T 81d1 8, 3R I8 Ul faemdf & Sfta &1 ek Yexl &1d gidl 8, Sl Ueh (MiYd IHa & URard ¢d Sar g |

Sub questions

Question Number : 96 Question Id : 97675510677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafed & & Sufed T &1 I NS -1 8
Options :

A. ® St | Ihddl Ud b edl Bl Hgd |




B. # gz fAmfon
c. ¢ faendf.sfiam 1 foxy A=
D. * IRz Fafur td SR |

Question Number : 97 Question Id : 97675510678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRad & § sy Xreg I 1 ST 82
Options :

A. % QIR

B. ® -l

C. ¥ gR

D. ¢ g

Question Number : 98 Question Id : 97675510679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUdad T F IR AW Fed faendf 8, wife a8

Options :

A. % I DI TS a1 H faeneff Sha= g Sht urar g1
B. ¥ YA IHY T4} Tt g1iRiet -1 g g
C. ¥ Td S 101 URa P 351 AT B |

D. % 3P AHEHR dgal a1 g |

Question Number : 99 Question Id : 97675510680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suad T & TR faemif-Sia &1 St TeR-2nTeT Siea! THTW 81 S &1 BRI gl
Options :

A. % TRATA & GRT T & Heldl [d S BT 1|

B. % T4 & 3fdvel Ig WM DT 1|




C. ¥ U gRI 48 fAU SH &1 13|
D. ¢ A7 &I Id U4 sk Ue Hia-T|

Question Number : 100 Question Id : 97675510681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ <@ &1 faeiy g 2

Options :
A. ¥ J&H
B. % HICT
C. # Yl
D. ® gud
Disciplinel
Group Number : 6
Group Id : 976755299
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 976755624
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755741
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675510682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In B- decay ,the nucleus emits-

Options :

A. ¥ electron

B. # proton

C. # neutron

D. * positron

Question Number : 101 Question Id : 97675510682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B-& H, T Ieatord PRAT @ -
Options :

A. ¥ TARMH

B. % UicH

C. * e

D. ® TifeicH

A

Question Number : 102 Question Id : 97675510683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Neutrino is a particle emitted in ?
Options :



A. # o-decay
B. ¥ B-decay
C. # ydecay
D. # 3 decay

Question Number : 102 Question Id : 97675510683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i &1 HUT el Ifoid aIdT § 2
Options :

A. % o-&T

B. ¥ -8/

C.*y&4

D. ¥ 5 &4

Question Number : 103 Question Id : 97675510684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Plane angle is defined as the ratio of ?

Options :

A. ¥ Length of arc to the radius

B. # The intercepted area of a spherical surface to the square of its radius
C. # Area of the circle to the radius

D. #* Length of the arc to the square of the radius

Question Number : 103 Question Id : 97675510684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THAS B0 B b SuTd & =0 H g fopar Sar g 2

Options :



A. ¥ TS AU DI TG D 3R 39D Al
B. % URa: FfHfd el gy & srRiem & qut s & aif

C. % g0 B &% d 3R IqH! el
D. % G & 919 &1 THETS o 3R SUB| AodT &b

Question Number : 104 Question Id : 97675510685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To measure 0.0001 m length accurately one what can be use?
Options :

A. # Metre scale

B. # Screw gauge

C. # Spherometer

D. ¢ Vernier Callipers

Question Number : 104 Question Id : 97675510685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.0001 Hiex IETS &l Il U A AU & forw
T IYANT foh a1 o Febell &-

Options :

A. % MR Whd

B. % ¥ Il

C. % TWhRIHICY

D. ¢ FFIR sl

Question Number : 105 Question Id : 97675510686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The error which is associated with the resolution of the instrument is known as
Options :



A. * Absolute error
B. ¥ Least count error
C. # Relative error

D. # Random error

Question Number : 105 Question Id : 97675510686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU I3 & fa0eT 89St Ffe Bl SR AEIEIRE I

Options :

A. % qoigfe

B. ¢ 3{cqdHidh <t
C. % 3ufére Ffe

D. % efwsd Ffe

Question Number : 106 Question Id : 97675510687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Voltage and current are given as V = (100 £ 9)V and I =(100 + 0.5)A .Find the Percentage error in resistance (R)

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. 5 percent

B. 9 percent

C. 12 percent

D. 14 percent

Question Number : 106 Question Id : 97675510687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



dieedl 3R faggq URT ST V = (100 + 9)V 3R 1 = (100 + 0.5)A & ¥U H <=1 T4 5 | UieRIe (R) & Ufawrd Ife I Hifor|
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

A. 5 gfa=rd
B. 9 Ufc=rd
C. 12 ufard
D. 14 gfa=ra

Question Number : 107 Question Id : 97675510688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The accuracy in measurement of mass 9.89 g is + 0.01 g .Then the relative error in 9.89¢g is:
Options :

A. # +1 percent

B. # + 10 percent

C. ¥ £ 0.1 percent

D. # +0.01 percent

Question Number : 107 Question Id : 97675510688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO 9.89 UTH &Y WY | JYTAT + 0.01 AH &1 9.89 I & A Ffe &
Options :

A. ® +] gfa=rd

B. ® + 10 Ufd=rd

C. ¢ +0.1 Ufa=rd

D. % +0.01 Uf=Id

Question Number : 108 Question Id : 97675510689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the dimensional-formula of X, +ut + Elatf -
Options :

MLIT?
A.

7
B. #

" i
C. %

MLIT!
D. %

Question Number : 108 Question Id : 97675510689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X oF ut+51at3 T T T T AT -

Options :

MLIT?
A.

7
B. #



M LT
C. =

s S |
D‘wMLT

Question Number : 109 Question Id : 97675510690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimensional formula of mass is :
Options :

A MILIT?
B, v [M'LT?]

1t 11
c % MIL'T

b % MLT™

Question Number : 109 Question Id : 97675510690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SoqHH &1 faia 9 §:

Options :
ly 14 -2
A x ML'T

5. v [MILOTY]



c » ML'T!

o« MLT™

Question Number : 110 Question Id : 97675510691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between Ergs(erg) and electron volt(eV) is?
Options :

A. % 1erg=0.625x1010ev

B. % lerg=0.625x10"10¢v

C.¥ lerg=0.625x 1012 eV

D. % ] erg=0.625x 1012 eV

Question Number : 110 Question Id : 97675510691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ergs(erg) 3R E@I?Ej/:f diee (eV) & oI gaY %?
Options :

A. % 1erg=0.625x1010ev

B. % lerg=0.625x1010¢v

C.¥ lerg=0.625x 102 eV

D. % 1erg=0.625x 1012 eV

Question Number : 111 Question Id : 97675510692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gravity is an example of?



Options :

A. #* Conservation of energy
B. # Conservative energy
C. ¥ Conservative force

D. #* Kinetic force

Question Number : 111 Question Id : 97675510692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSIyl {5 BT IGTER &2
Options :

A. % ol WREU

B. ¥ WM Holl

C. ¥ WREH g

D. # el §a

Question Number : 112 Question Id : 97675510693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimension of potential energy is:
Options :

ML 2
A. #

i
4

B.

e PO, |
o % MTLT



MLZT 2
D. ¥

Question Number : 112 Question Id : 97675510693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRUfIS ol 1 ST 82

Options :

ML
A. %

M
k-4

B.

" MILET-I
C. =

ML2T 2
D.

Question Number : 113 Question Id : 97675510694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The spring is said to the stiff when the value of spring constant is
Options :

A. % Less

B. # Moderate

C. ¥ High



D. ¥ Zero

Question Number : 113 Question Id : 97675510694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI fBITT 1 HoR HeT ST & ad FBiTT fRRI% &1 AH g gl
Options :

A. ® DH

B. # H&H

C. ¥ 3d

D. ® ¥

Question Number : 114 Question Id : 97675510695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car is moving with a speed of 5 ms™! on a smooth road and its mass is 10 quintal. It collides with a wall and the wall is mounted with a spring
of spring constant 6.25 x 103 Nm!. Find the maximum compression of the spring.

Options :

A. # 3.00 meter

B. # 1.00 meter

C. ¥ 2.00 meter

D. # 4.00 meter

Question Number : 114 Question Id : 97675510695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T DR e T WR 5 HieyAde B T I Ia I8! & 3R 3] Goid 10 fhed ¢ 1 I8 T SlaR A el & 3R iR Biv fRRi®
6.25 x 103 ge/Hex & BT A St gl 7 | FBiTT &1 3if¥pan Tdis F1d Hifora|

Options :

A. % 3,00 HI?

B. ¥ 1.00 Hicx



C. ¥ 2.00 HIcR
D. ¥ 4.00 Hicx

Question Number : 115 Question Id : 97675510696 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

If during a collision, the initial velocities and final velocities of both the bodies are along the same straight line then it is called:

Options :

A. # Direct collision

B. ¥ Head on collision

C. # Head to head collision

D. # Natural collision

Question Number : 115 Question Id : 97675510696 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

s T g & ST e B TRTE 31 iR Sife T U € TR Y B o g A 5 e §

Options :

A. % T gugH
B. ¥ JHg JUg
C. % Thildd YU
D. ¥ Ulhidd Fag-

Question Number : 116 Question Id : 97675510697 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Impulsive force is:

Options :

A. # Small force acts in a short time

B. # Large force acts in a longtime

C. ®# Small force acts in a long time

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



D. ¢ Large force acts in a short time

Question Number : 116 Question Id : 97675510697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GI'IaTﬁaFT%:

Options :

A. ¥ TY 90 HH AT d% HRRA 381 8

B. * faqd (&) 90 da YHY I BRI 8dl §
C. % TY §d dd IHY dP SR 384T &

D. ¢ faua () 9 &9 9570 d SRR I8dT 8

Question Number : 117 Question Id : 97675510698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Action and reaction forces act on what?
Options :

A. # The same body only

B. # The same body but different position
C. ¥ The different bodies

D. # The same body or different body

Question Number : 117 Question Id : 97675510698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopar 3R ufafrar s fPg WP A § 2
Options :

A. ¥ BHId gAFY TS W

B. * gHRY QU difchT e U IR

C. ¢ faftrz fivs

D. * gy fqug 77 fafie fhug



Question Number : 118 Question Id : 97675510699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Equilibrium of a particle in mechanics refers to the situation when the particles are in
Options :

A. # Translational equilibrium only

B. # Rotational equilibrium only

C. # Conditional equilibrium only

D. ¥ Both translational and rotational equilibrium

Question Number : 118 Question Id : 97675510699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gife! o ue s o1 e 39 fufa &1 il ovar g o fis Aeagl
Options :

A. ¥ HId RIFFRIT ARG

B. % ad goT QrTaeAT

C. % Had I ArTaRIT

D. ¢ Gl RIFTIRIG ATTaRIT 3R goif Armay1

Question Number : 119 Question Id : 97675510700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the maximum value of acceleration of the bus if a mass of 3 kg lying on the floor of the bus will remain stationary (Given the co efficient of
static friction is 0.15):

Options :

A. % 0.5 ms?
B. ¥ 2.0 ms~
C. ¥ 1.5 ms™
D. ¥ 2.5 ms™



Question Number : 119 Question Id : 97675510700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & @RI BT HAHTH A F1d BT AfS T & BRI R UST g3 3 fhu1 &1 goqam fRR g (R a1 & 101 0.15 8) |

Options :

A. % 0.5 HlcxAeHs2
B. ¥ 2.0 ficxAdhe2
C. ¥ 1.5 HicxAdhe2
D. ¥ 2.5 iy e2

Question Number : 120 Question Id : 97675510701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suppose that a projectile is launched with velocity V, that makes an angle 6, with the horizontal axis. What is the time of flight of the projectile ?

Options :

A. % Vsin 0,/g
B. ®# gsinf,/V,
C. ® 2V, cos 0,/g
D. ¥ 2V sin 0,/g

Question Number : 120 Question Id : 97675510701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe e o v, & W1y U YA o) YTt fosar Siran 8 S &t s1ef & Ty 6, HI01 §41d1 8, o AW 1 IS &1 99T 1 82
Options :

A. % Vsin 0,/g

B. # gsin 6,/ V,

C. ¥ 2V cos 0,/g

D. ¥ 2V sin 0,/g
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Question Number : 121 Question Id : 97675510702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy throws a stone at a speed of 28 ms™! . The stone makes 30° angle with the horizontal surface. Find the maximum height of the stone from
the ground.



Options :

A. ¥ 10.0 meter
B. # 8.0 meter

C. # 12.0 meter
D. # 6.0 meter

Question Number : 121 Question Id : 97675510702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSH] Th TR Dl 28 Hiew/ Ybs &1 71fa F Bobal 5 | TR &faST Tag T 30° BT HI0 §41d1 8 | STHIT J TR Bt Hf¥HaH Fars J1d

Options :

A. ¥ 10.0 IR
B. ¥ 8.0 Hicx

Question Number : 122 Question Id : 97675510703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
We don’t have to specify the direction of
Options :

A. ¥ A null vector

B. # Unit vector

C. # Radius vector

D. # Displacement vector

Question Number : 122 Question Id : 97675510703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B4 fezn & Rfdy o3 &) srazgedr T8l g1 22

Options :



A. ¢ I AW
B. ¥ UHP IlQX
C. % P ey
D. * foru= gfew

Question Number : 123 Question Id : 97675510704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A river is 1000 m wide and water flows at a speed of 50 m/ min.A man can swim
- , :

at a speed of 66 S m/ min in still water . What is the time needed by the man to
cross the river ?

Options :

A. # 10 min

B. ¥ 15 min

C. # 20 min

D. # 25 min

Question Number : 123 Question Id : 97675510704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fr 1000 He =2 E 3T 9= 50 Hrey faae Fr i T agar &1 v 3eH
anﬁmﬁrﬁﬁﬁgmaﬁmsﬁmﬁmmmm HEHT F Fer I FA H
Fraar g e

Options :

A. % 10fAe
B. ¢ 15 fe
C. % 20 ffFe
D. ¥ 25 fiFe



Question Number : 124 Question Id : 97675510705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a scalar quantity ?
Options :

A. ¥ Angular frequency

B. # Angular velocity

C. # Angular momentum

D. # Linear momentum

Question Number : 124 Question Id : 97675510705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifad 7 3 oH ue sfe ufkig?
Options :

A. ¢ 10 1gf

B. % DIufig o7

C. % DIy HaT

D. ¥ WY HaTl

Question Number : 125 Question Id : 97675510706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is false for a "rigid body" ?
Options :

A. # It has perfectly definite shape

B. # The shape is unchangeble

C. # All particles of the body are moving together

D. # The rigid body is not in pure translational motion

Question Number : 125 Question Id : 97675510706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g fie" & R S H AT HYT 3T B2
Options :

A. * 3T R @RE § FAfda R 8
B. % 3THR UNRIIII §

C. %
ffeF Tt T TG AU gHR ©
D. ¥ ¢ fiie Jg wFidig Tfa & e §

Question Number : 126 Question Id : 97675510707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In pure translational motion at any instant of time all particles of the body have
Options :

A. % Different velocity

B. # Different momentum

C. ¥ Same velocity

D. ¥ Same momentum

Question Number : 126 Question Id : 97675510707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ot o g wRiA T A s s wien . @A e
Options :

A % P aTH

B. % iy Yo

C. ¥ GHF A H

D. ¥ A YT H

Question Number : 127 Question Id : 97675510708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The example of rotation where axis may not be fixed?
Options :

A. ¥ A spinning top only

B. # A ceiling fan only

C. ¥ A potter's wheel only

D. ¥ Spinning top and potters wheel

Question Number : 127 Question Id : 97675510708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui 1 IETERUI T GRTI I8t 3fef TR 81 82
Options :

A. ¥ &Jd guif deg

B. % dhad Hifei i

C. ¥ DHad PR B TP

D. * guff deg 3R FTeR &1 I®

Question Number : 128 Question Id : 97675510709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the position of the centre of mass for two particles of equal masses?
Options :

A. # 1t lies near each mass

B. # It lies at perperdicular distance from either of the mass

C. # It lies between any point of the masses

D. ¥ It lies exactly midway between the masses

Question Number : 128 Question Id : 97675510709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U Go0H aTdl &l HUN & GoTHH $g B YT 1 ghlt 2
Options :

A. % TE TP SHHF & U fRa g

B. % T GHMM & I UH 4 99dd gl W YA §

C. % g g & fpa i fig & S fRa R

D. ¥ JE S & Sl S Ryd g

Question Number : 129 Question Id : 97675510710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the magnitude of linear velocity of a patticle whose angular velocity is 71 +37 -5k
and the distance from the originisi-j + k.

Options :

A. ¥ 1575 ms!

B. ¥ 14.62 ms™!

C. ¥ 12.35ms’!

D. # 13.75 ms’!

Question Number : 129 Question Id : 97675510710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% H0T % @S =1 F 9&A0r 79 v 5w Fola 397 71437 - sk g
T A g ¥ gl i-j+ke-

Options :

A. ¥ 15.75 MRS
B. ® 14.62 HIeXAHS
C. % 1235 HiRAHS
D. ® 13.75 HIcxAHS



Question Number : 130 Question Id : 97675510711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pair of forces of equal magnitude but acting in opposite direction with different lines of action is known as:
Options :

A. # Moment

B. ¥ Couple

C. # Precession

D. # Centre of mass

Question Number : 130 Question Id : 97675510711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T INRHAT0 & Sergw o fafid v & fausid = # &riRd 8, &1 31 &gl oirdl 62
Options :

A. % el

B. ¥ dc1 g™ (Couple)

C. % 3UTHA

D. ¥ GogHM g

Question Number : 131 Question Id : 97675510712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The centre of gravity of a body is that point where the total gravitational torque on the body is
Options :

A. * Infinite

B. ¥ Maximum

C. % Minimum

D. ¥ Zero

Question Number : 131 Question Id : 97675510712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forft fifs &1 o &g a8 fag § e uilkd fifs &1 $a Taremyur 9 Srguf gl
Options :

A. % 3Fd

B. % 3ff¥mdd

C. % gAqH

D. ¥ 4

Question Number : 132 Question Id : 97675510713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The moment of inertia of a hollow cylinder of radius R is MR? about?
Options :

A. # Diameter

B. ¥ Axis of cylinder

C. # Perpendicular axis

D. # Parallel axis

Question Number : 132 Question Id : 97675510713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 R & Ueh TWRIQ S BT STSed MMl fbgds Ardief MR2 BHTI
Options :

A. ®= Y

B. ¢ §¢H Bt ¢RI

C. ¥ Tad 3f&f

D. ¥ JHMIR &

Question Number : 133 Question Id : 97675510714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the moment of inertia of a hollow ring about its tangent.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
A. MR?

MR?
B. 4

5EMR?
c. 4

3MR?

Question Number : 133 Question Id : 97675510714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS QG o o WRRET & AT0e STSd ST 1 Do |
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
A. MR?

MR?
B. 4




5MR?

c. 4
3MR?
D. 4

Question Number : 134 Question Id : 97675510715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If d is the depth, R, is the radius of the earth and g is the acceleration due to gravity at earth’s surface, the g at a depth d, g(d) is:

Options :

A. % g(d)=g(1 - 2d/Rg)
B. # g(d)=g(1 +2d/Rg)
C. ¥ g(d) = g(1 - /Rp)
D. # g(d)=g(1 + d/Rg)

Question Number : 134 Question Id : 97675510715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g d TeXTS §, R Tt 1 3 B SR ¢ Gt &t g R T¥cd g aRUT &Y, Y TR d R g, g(d) T 8N
Options :

A. % g(d)=g(1 - 2d/Rg)

B. # g(d)=g(1 +2d/RE)

C. ¥ g(d)=g(1 - d/Rg)

D. # g(d)=g(1 + d/Rg)

Question Number : 135 Question Id : 97675510716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the escape speed for moon?
Options :

A. % 11.2 km/s

B. # 3.2 km/s

C. % 211km/s

D. ¥ 2.3 km/s

Question Number : 135 Question Id : 97675510716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dGHI I TAIH I1d J1d P
Options :

A. % 112 fFdfAdHs

B. ¥ 32 fpHIAHS

C. % 2.11 foiiAds

D. ¥ 2.3 fpHiAdbe

Question Number : 136 Question Id : 97675510717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the total energy of a circularly orbiting satellite?
Options :

A. % Zero

B. # Postive

C. ¥ Negative

D. * Infinite

Question Number : 136 Question Id : 97675510717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UH GAIHR URHHT B aTdd SWIE Bl Hd Sroll a1 G2
Options :

A. % T

B. # YdIHD

C. ¥ BUTHD

D. # 3Hd

Question Number : 137 Question Id : 97675510718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between time period T and radius R, of the circular orbit of a planet about the sun ,where gravity is G, and mass of the sun is Mg is:

Options :
At
= R
A W GMS
4q®
12 =
GMg R
B. #
= 4,_4-['-‘ R:
C GMsg
A
T:= _{_;I: R2
D. = =

Question Number : 137 Question Id : 97675510718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Safy T 3R g & et T foreht 718 &1 GAIHR B R Bt ST & ot Faie 31 N, STgl Tl yul G 7, 3R Jd &1 GHH M 87




Options :

e

4o

_T_GMSR
A *
4t
S aiclccat
Tl B
B. #
T = ﬁR}.
C GMq
| S
i IF= _[:I:-[j Rz
D. # %

Question Number : 138 Question Id : 97675510719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The year of a planet is 29.5 times that of the earth .If the distance between sun and the earth is 1.50 x 108 km then find the distance between the
planet and the earth?

Options :

A. ¥ 1.430 x 10'? meter
B. # 1.34 x 10'2 meter
C. % 1.43 x 10'* meter
D. ¥ 1.34 x 10'% meter

Question Number : 138 Question Id : 97675510719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U8 H1 Y, Godl & 98 &1 29.5 AT o | A I 3R Tedft & S 1 g3t 1.50 x 108 fobtf 8, 0 U SR gedt & &g &1 g3t A1d Sifog |



Options :

A. ¥ 1.430 x 1012 HlcR
B. # 1.34 x 1012 Hex

C. % 143 x 1014 TR

D. ¥ 134 x 1014 WX

Question Number : 139 Question Id : 97675510720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Escape speed of a body is independent of
Options :

A. % Gravity

B. # Radius of the earth

C. ¥ Mass of the body

D. # Gravity and radius of the earth

Question Number : 139 Question Id : 97675510720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ERAECEIREIPERI] Y W Bl 87
Options :

A. ¥ TATHYT

B. % gt Y e

C. ¢ fus &1 gogr

D. ¥ TS@IHYU 3R gedl &1 e

Question Number : 140 Question Id : 97675510721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Accleration due to gravity above the surface of the earth is not dependent on?
Options :



A. ¥ Mass of the earth
B. # Radius of the earth
C. # Gravity of the earth
D. # Height

Question Number : 140 Question Id : 97675510721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2dl &1 T8 & SR TS@IH YUl & HRUN &R0l forg IR R et aovar &2

Options :

A. ¥ G BT gogHH

B. % gl ot A

C. % Gedt BT [SD YUl

D. % &S
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Question Number : 141 Question Id : 97675510722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which law of kepler can be understood as a consequence of a conservation of an angular momentum which is valid for any central force ?
Options :

A. # Law of orbits

B. ¥ Law of areas

C. # Law of periods

D. # Law of semi major axis

Question Number : 141 Question Id : 97675510722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR P foog o o) fudt ot Fefl 901 & forw A ivfia W3 & TRefur & ko & =0 § A o bl 82
Options :

A. * Hefaf &1 o

B. ¥ &4 &1 HaH

C. ® 31ad &1 fAuw|

D. * 31 g 3181 BT AT

Question Number : 142 Question Id : 97675510723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The relation between the average energy of vibrations (E) and temperature (T) is
Options :

A. *# E proportional 1/T

B. # E proportional 1/T?

C. ¥ E proportional T

D. ¥ E proportional T2

Question Number : 142 Question Id : 97675510723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HU (E) IR d9HH (T) P A S p g &y g
Options :

A. ¥ E 3{MUifds 1/T

B. # E 3{IJUlfde 1/T2

C. ¥ E 3{TUIfde T

D. ¥ E 3{UTfde T2

Question Number : 143 Question Id : 97675510724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the frequency of a periodic is small then it is called :
Options :

A. ¥ Oscillation

B. # Vibration

C. ¥ Repeating

D. # Damping

Question Number : 143 Question Id : 97675510724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o fa Sirad &1 Mgl HH Bidl & df 34 Pad 6 :
Options :

A. ¥ TlaH

B. ¥ $HUT

C. ¥ qexd

D. # 3{qHgHh

Question Number : 144 Question Id : 97675510725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For simple harmonic motion which of the following is true ?
Options :

A. % Displacement of the particle varies with distance

B. # Displacement of the particle varies with velocity

C. ¥ Displacement of the particle varies with time

D. # Displacement of the particle varies with amplitude

Question Number : 144 Question Id : 97675510725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 3Tad fa & fore FefafRa d y s araa g 2
Options :

A. % U T fIRITTA g2 & 1Y Saadl el 8

B. % U1 &1 fARITYT AT & 1Y FSardT el &

C. ¢ B BT [IRITT THY S 1Y Teerdl 6dl &

D. % U1 BT fGRITI AT F 1Y TSaIdT 6l §

Question Number : 145 Question Id : 97675510726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The phase constant of simple harmonic motion is dependent on :



Options :

A. ¥ Time

B. # Displacement
C. # Frequency
D. # Amplitude

Question Number : 145 Question Id : 97675510726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T el BT Dl adidh g IR AR Prar g 2
Options :

A. ¥ JHY

Question Number : 146 Question Id : 97675510727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the length of simple pendulum if frequency is 0.5 Hz ( g = 9.8 ms™ )?
Options :

A. ¥ | meter

B. ¥ 2 meter

C. ¥ 3 meter

D. # 4 meter

Question Number : 146 Question Id : 97675510727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR UGTH B! dals T I Foraadh! 3R 0.5 el (g = 9.8 ms2) 82

Options :



A ¥ 1 HIR
B. ¥ 2 AR
C. % 3R
D. ¥ 4R

Question Number : 147 Question Id : 97675510728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the amplitude for forced oscillations in case of small damping?

Options :
F
A=c—-2
A % (w? _Wzd}
A=—"2_
= FD'
) = Ty
C. s
T
D. ® = m(w2+ wzd}

Question Number : 147 Question Id : 97675510728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIC 3faHc P! RYf H gunfed gier &1 A 31 g2

Options :



Fo

A=—"4"—"-——
A% (w2 —w?y)
A=—10_
B. ¥ (W —wg)
= Fo
v == r|r1l[f.ﬂ.r‘3I = wzd:}
C. s
— Fo
D. % = m(w2+w2d}

Question Number : 148 Question Id : 97675510729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a mechanical wave ?
Options :

A. ¥ Light wave

B. ¥ Sound wave

C. % Water wave

D. # Seismic wave

Question Number : 148 Question Id : 97675510729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & oF e a1 161 82
Options :

A. ¢ DI aT

B. % iy o



C. % §d a3

D. % YUl T

Question Number : 149 Question Id : 97675510730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SI unit of angular wave number is-
Options :

A. # Radian

B. ¥ rad m’!

C. % rads’!

D. # mg!

Question Number : 149 Question Id : 97675510730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DIV T BT BT T, 3MTs. (SI) HHS &-
Options :

A. # Radian

B. ¥ rad m’!

C. % rads’!

D. ¥ ms!

Question Number : 150 Question Id : 97675510731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gamma is the ratio of two specific heats .What is value of gamma for air ?
Options :

A % 1

B. %2

C. %24



D. ¥ 14

Question Number : 150 Question Id : 97675510731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 ARy SeATaf &1 SIgTd g | arg 3 foru T 1 /1 T 82
Options :

A * 1

B. # 2

C.#24

D. ¥ 14

Question Number : 151 Question Id : 97675510732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much negative charge is present in 500 g of water?
Options :

A. % 134x107C

B. ¥ 2.68 x 107 C

C. % 134x10C

D. ¥ 3.68x 107 C

Question Number : 151 Question Id : 97675510732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 T STd B fara1 BUMa giar 82
Options :

A. % 134x107C

B. ¥ 2.68 x 10’ C

C. % 134x10°C

D. ¥ 3,68 x 107 C



Question Number : 152 Question Id : 97675510733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of the permitivity of the free space in SI unit is
Options :

A % 8.854 x 10-% ¢<INm~

. 85.854 = ]_::}-1—1 C:N_lm_:
B. #

c w 7.854%102eN'm?

8 854 % 10-12c2N-1ip2
D. «

Question Number : 152 Question Id : 97675510733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TY.3T8. (SI) AE® H Jod I &1 TR 61 7 gl
Options :

8 854 % 1019 c2Nm2

A=

 8.854 % 10-¥ ¢IN"!m-2
B. #
c x 7-854x1012cN'm?

8.854 % 10-12c2N-1p-2
D. &



Question Number : 153 Question Id : 97675510734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is false in case of Coulomb's law?

Options :

A. # It is true when both charges are positive

B. # It is true when one charge is positive and another is negative
C. ¥ It is true only when both charges are positive

D. # It is true when both charges are negative

Question Number : 153 Question Id : 97675510734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & 99 & AT H DIF A1 HYT 38 82
Options :

A. % T8 I g OId Q! 9ol YTe® &

B. ® U8 Y g 56 U TTo! YIS g 3R IR BB
C. ¢ I8 It T B 9E S 1A 4TS Bl

D. * T8 Y ¢ S <HI dTol BUNHD &

Question Number : 154 Question Id : 97675510735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The SI unit of electric flux is -

Options :

A. % NCm'!

B. ¥ NCm?

C. ¥ NC'm?

D. ¥ NC'm?



Question Number : 154 Question Id : 97675510735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TR P T 3718, (SI) HTHD (3HTS) gl

Options :

A. ¥ NCm™!
B. ¥ NCm?
C. ¥ NC'm?
D. ¥ NC'm™

Question Number : 155 Question Id : 97675510736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The electric field of an electric dipole at a point on the equatorial plane for r >> a is
Options :
2p
4mt,r®

A ®

2p
p % A4mter?

P
C % Amtyr’

e B
D « Amtgr?

Question Number : 155 Question Id : 97675510736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

r>> 2 & 1Y YA eATg 90 R U fig W 0o fagyd fgsa &1 fagyga &= BT

Options :

2p
A % Amter®

2p
g % 4mter?

P
c % Amtgr

.
D« Admter?

Question Number : 156 Question Id : 97675510737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Gauss's law the electric field at a distance r from an infinitely long straight uniformly charged wire (charge density 1) is

Options :
— A =g
E= n
A ® mt.r
pe L (R
E=—n
B # L r



C o 2"]1'1::1"
— A
= n
4mLr
D. =

Question Number : 156 Question Id : 97675510737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR & 90 & 3R 3fd dd T THIHH AR IR (AR I 1) W r g3 W fdggd & g

Options :

e TR

E=—n
A ® mt.r

=3 2

E=—n
B % L r

— A

E= n
C o 2"]1'1::1"

— A 5

Hi= n
D. % 4mEr

Question Number : 157 Question Id : 97675510738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the total work done in bringing a charge of 5 x 10”7 C from Infinity to a point which is 10 cm away from a charge of 3 x 10 C?



Options :

A ¥ 135x10%]
B. % 1.6x 1047
C.% 1.6x107]
D. # 1.6x 107

Question Number : 157 Question Id : 97675510738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5% 10”7 C & AV BT 3 T U U g d a1 A T T Fdf Hrd &t MO B S 3 % 1079 ¢ B AU 10 JH gR 72
Options :

A ¥ 135% 104 9d

B. ® 1.6 x 10 9d

C. % 1.6x 107 9d

D. % 1.6 x 107 9[d

Question Number : 158 Question Id : 97675510739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the electrostatic potential energy, when two charges 5 uC and - 3 nC are placed at a distance of 16 cm away from each other ?
Options :

A. % 0.8]

B. ¥ -0.84]

C.*09]J

D. # -0.95]

Question Number : 158 Question Id : 97675510739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRR faggd fufas S 31 Tt 519 1 ST 5 uC 3R -3 pC TH TR I 16 JH P g TR W1 1T 62

Options :



A. % 0.8 9
B. ¥ -0.84 9[d
C. % 0.99d
D. % -0.959d

Question Number : 159 Question Id : 97675510740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for electrostatics of conductors ?

Options :

A. ¥ Inside a conductor ,electrostatic field has some value

B. # Inside a conductor ,electrostatic field is normal to the surface

C. ¥ The interior of a conductor can have no excess charge in the static situation

D. # Electrastatics potential is not constant throughout

Question Number : 159 Question Id : 97675510740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A1eie FRRMAGAH! & T B9 91 vy Tel 22

Options :

A. % TH 910 & IR, RR A & F1$8 g &

B. * U% A0 & 3icx, FRRIGY & Tde F ifiieread gia 8

C. ¥ Rfae RUfq & grae & Nk S5 sifafvad Sma=r 781 8 9o §
D. %%ﬁmﬁ@aﬁuﬁqj{w@ﬁﬁ

Xedl

Question Number : 160 Question Id : 97675510741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a non polar molecule ,the molecule has
Options :



A. ¥ No intrinsic dipole moment
B. # Permanent dipole moment
C. ¥ Intrinsic dipole moment

D. ¥ Week dipole moment

Question Number : 160 Question Id : 97675510741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U TR-YdHT SO, BT 3-
Options :

A. ¥ 13 3fale fgya smguf gt
B. * Rl fgea smeul

C. ® 3ffaRe fgya el

D. ® gad fgyd freuf
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Question Number : 161 Question Id : 97675510742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the capacitance of a parallel plate capacitor when the area of the plate is 1 m? and the distance between them is 1 mm?
Options :

A. %888 x10°F

B. ¥ 8.85x 107 F

C. % 888 x107F

D. % 885x 108 F

Question Number : 161 Question Id : 97675510742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHFIR @I BI &1 Bt 41l 1 gl o Wie &1 8w 1 a7 11 § 3R 39 offg &1 g3t 1 fondt g2

Options :

A. % 888x108F
B. ¥ 8.85x 10°F
C. % 888 x10°F
D. # 885x 108 F

Question Number : 162 Question Id : 97675510743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the area of the cross section of a conductor is halved then its resistance become
Options :

A. # zero

B. # half

C. ¥ two times

D. # infinite

Question Number : 162 Question Id : 97675510743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ot aTeieh & U B HT &THA YT PR AT AW A ITBIURRIY gl
Options :

A # XY

B. # YT

C. ¥ S

D. ® 3dd

Question Number : 163 Question Id : 97675510744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The SI unit of current density is-
Options :



g |

EM|:[:-

Question Number : 163 Question Id : 97675510744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR 99 $T SI HHD &

Options :

A% Am-

A

m?*
A
B. =

g |

EM|:[:-

Question Number : 164 Question Id : 97675510745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The magnitude of the drift velocity per unit electric field is -
Options :

A. ® Conductivity



B. # Resistivity
C. ¥ Mobility
D. * Electricity

Question Number : 164 Question Id : 97675510745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufd 3pTs faggd & § 98Td a7 ST URHT §
Options :

A. * dlcdchdl

B. % GicRIyehd

C. ¢ TifcRiterdr

D. ® faggd

Question Number : 165 Question Id : 97675510746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The range of resistivity of a material is of 108 Qm to 10"® Qm. Find the material?
Options :

A. * Insulator

B. # Semiconductor

C. ¥ Metals

D. # Resistor

Question Number : 165 Question Id : 97675510746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U o1 Ufaiersar ST 1078 Qm T 106 Qm g | g 1 g
Options :

A. # JRIYPH

B. % JdITc®



C. ¥ U1g
D. * UfeRIY®

Question Number : 166 Question Id : 97675510747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The resistivity of a semiconductor

Options :

A. ¥ decrease with increasing temperatures
B. # decrease with decreasing temperatures
C. # increase with decreasing temperatures

D. # increase with increasing temperatures

Question Number : 166 Question Id : 97675510747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S{EATD! B UfcRIUDH T |
Options :

A. ¢ 9gd dIYEH & 91 & gt

B. % Ycd dIUHT & 1Y HH gl

C. ® gcd d9d & 1Y fg gIft

D. ¥ §gd dIUAH $ 91y gfg grft

Question Number : 167 Question Id : 97675510748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The internal resistance of a dry cell is the common electroytic cell.
Options :

A. # less than

B. ® much less than

C. # equal



D. ¥ much higher than

Question Number : 167 Question Id : 97675510748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh Y el BT 3MidRep TRy G faggdia I gl gl
Options :

A. # DIgATH HH

B. % &1 o H BIhI HH

C. % YHMH

D. ¢ $ g § B! Tl

Question Number : 168 Question Id : 97675510749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which instrument has the advantage that it draws no current from the voltage source being measured?
Options :

A. # Wheatstone bridge

B. # Meter bridge

C. # Galvanometer

D. ¥ Potentiometer

Question Number : 168 Question Id : 97675510749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{3 JUHRU T Jg 1Y ¢ b T8 HTU 911 I3 diecol Al A By YRT Ta] Widdl 67

Options :




Question Number : 169 Question Id : 97675510750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not the limitation of ohm's law?

Options :

A. % V depends on I non linearly

B. # The relation between V and I depends on the sign of V for the same absolute value of V
C. ¥ The relation between V and I is dependent on R

D. # The relation between V and I is non unique

Question Number : 169 Question Id : 97675510750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 O 7 37 & oy ot i/ gepTae T8t 82

Options :

A % VRS EFTF I RMRE

B. % VHIW WAAA & fau v iR 1 H Iddy v & g AR g
C. ¥ VIR & g dey R R R w1 g

D. ® v 3R 1% g Yay 3ifgetg T8t 8

Question Number : 170 Question Id : 97675510751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose four particles of same mass, present at the vertices of a square of side "a", then the potential energy of the system is- (G- gravity, m-
mass)

Options :

A. # (-42Gm/a)]
B. ¥ (-5.41 Gm?/a) J
C. % (42Gm/a)]
D. ¥ (5.41 Gm%/a)J



Question Number : 170 Question Id : 97675510751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A S fob T gvM & IR Ul Y TR TH Yl "2 & 37 R AINE § o) Red &1 fufas i 8- (G- @yl m- SqdM)
Options :

A. % (-42Gm/a)]

B. ¥ (-5.41 Gm?%/a) J

C. # (42Gm/a)]

D. # (5.41 Gm?%/a)J

Question Number : 171 Question Id : 97675510752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the magnetic force g (‘? X E} is not zero?

Options :

A. ¥ When velocity and magnetic field are parallel

B. # When velocity and magnetic field are anti parallel

C. ¥ When velocity and magnetic field directions are opposite

D. ¥ When velocity and magnetic field are perpendicular to each other

Question Number : 171 Question Id : 97675510752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 GIh 9 q (Vx B) T 181 aidl &2

Options :

A. % S6 977 3R YP1g &7 GAMIAR 1 &

B. # S o7 3R ga@ 1 &F THHIR faRid g1d §
C. % 99 I 3R Jab1y &7 & fgzm faudia gt 8
D. ¢ & o1 3R a9 &7 Udh guR & ¢9dd 8id &



Question Number : 172 Question Id : 97675510753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 gauss = tesla

Options :
A. ¥ 10
B. ¥ 10
C. % 103
D. ¥ 1072

Question Number : 172 Question Id : 97675510753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 39 = I,

Options :

A. ¥ 104

B. # 1076

C. %107

D. ¥ 1072

Question Number : 173 Question Id : 97675510754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The earth's magnetic field is about-
Options :

A ¥36%x10°T

B. ¥ 39x10°T

C.%36x10°T

D. #39x10°T



Question Number : 173 Question Id : 97675510754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g2dl BT GBI &F TTHT &-

Options :

A ¥36x10°T

B. ¥ 39x10°T

C.%#36x10°T

D. #39x100T

Question Number : 174 Question Id : 97675510755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wire of mass 0.4 kg and length 1.6 m carries a current of 3 A . Around the wire a uniform magnetic field is present .Find the magnitude of
magnetic field .

Options :

A. % 065T
B.¥ 0.82 T
C.#0.74T
D. % 093T

Question Number : 174 Question Id : 97675510755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SOTHI 0.4 T SR TS 1.6 HIT & Th AR H 3 A BT dggd YRT Yalied Bidl & | TR b IRT 3R T YA Yob1g &7 Hivle ¢ | JIH1
&3 T UIRHTOT T g2

Options :

A. % 065T

B.¥ 0.82T

C.%074T

D. # 093T




Question Number : 175 Question Id : 97675510756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the magnitude of magnetic field when an electron moves in a circular path of radius 26 cm with a speed of 3 x 107 m/s. Mass and charge of
electron is 9 x 10731 kg and 1.6 x 10 ¢ respectively.

Options :

A ®6x100T

B. % 6x108T

C.¥Y6x104T

D. % 6x102T

Question Number : 175 Question Id : 97675510756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GBI &7 BT URHI HTd DI ST Teb geidi+ 26 YT BIsdT o GledR UY H 3 x 107 m/s =Tl A 7Tl BT 8 | FeAG BT ZoUHM 3R
AL HHE: 9 x 10731 fHUT MR 1.6 x 10719 C B-

Options :

A ®6x100T

B. ¥ 6x108T

C.¥6x10%T

D. % 6x102T

Question Number : 176 Question Id : 97675510757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Biot-Savart Law, the magnitude of the magnetic field ata
distance x from the centre of current (I) carrying circular loop ofradius
R in vacuum of permeability y, is —

Options :



i, IR

W % 2P +RD)

H, IR?
2 [KE + RZJE.,.-’Z

B. ¢

u, IR

o x 202 +R?)?

. IR
2 (x2 +R2)3/2

D. #

Question Number : 176 Question Id : 97675510757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
arET-arad A & 3eTER, [Hdd S gaseiierar Hadie u, 7 R BearF
faee aTRIETET (1) gedieh 1 & g 8 gl x 3 gaehia &1 &1 IRATT ghr-

Options :
i, IR

o % 202 +RD)

u, IR*
2 (x2 + R2)3/2

B. ¢

u, IR

o x 207 +R?)



. IR
2 (x2 +R2)3/2

D. ®

Question Number : 177 Question Id : 97675510758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Balmer Series, line with the longest wavelength, 656.3 nminthe  is called H; the next line with wavelength 486.1 nm in the 1s
called Hg,

Options :

A. ¥ Red, blue-green

B. # Red, violet

C. #* Violet, blue-green

D. # Blue-green,red

Question Number : 177 Question Id : 97675510758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR AU A 1B e qTQH, 656.3 A HieR ATell 1@ Bl H, 3R 486.1 T HICR qRIQ=A BT STl 3@ Bl H GRIT
o fhar S 6|

Options :

A. ¢ qrd, el - g8

B. % T, STHI

C. % S, el - g

D. # el - g3, &

Question Number : 178 Question Id : 97675510759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between orbital radius and the electron velocity is :



Options :
A % TV

1
ro—
B.v ¥

C. % TXV

D ® rocy?

Question Number : 178 Question Id : 97675510759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Held B IR geae a7 & ol e e A S R®ae 2
Options :

A, % TOCV

C.® 10XV

D, ® rocv3

Question Number : 179 Question Id : 97675510760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Weber is a unit of

Options :

A. # Magnetic moment

B. # Magnetic induction



C. # Velocity
D. ¥ Magnetic flux

Question Number : 179 Question Id : 97675510760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aR qES 5|

Options :

A. % GEBIg Ul BT

B. ¥ g g IR0 &I

C. %97

D. ¢ & 1g I Bl

Question Number : 180 Question Id : 97675510761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following called the Bohr radius?

Options :
he
L g = .
A ® mme?
i h2%e
B. % D Tmes
R2e
(1,3 = &
C. & mme®
h%e
., Qg = .
D. * Tme

Question Number : 180 Question Id : 97675510761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 5T g Bsur w1 orar g2

Options :
heg
A ® o mme®
. hZ=
B % 0 ame?
- hZe,
C. mme®
b L
D. L mme
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Question Number : 181 Question Id : 97675510762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For hydrogen atom the radius of innermost orbit of electron is 4.5 x 10712 m .What is radius of n= 4 orbital ?
Options :

A %45%x1010m

B. % 45x1012m

C. % 1.72x101%m

D.¥72x10'm

Question Number : 181 Question Id : 97675510762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIZS oI URHTY] & foTT Saiaeid o1 SfaRaH Hefl & AT 4.5 x 10712 HieR § 1 n = 4 e &t Boar aar ghft 2

Options :

A. ¥ 45x1010dR
B. ¥ 45x 1012 Hdc)
C. % 1.72x 10710 R
D. ¢ 72 x 1011 iR




Question Number : 182 Question Id : 97675510763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which series lies in the ultraviolet region?
Options :

A. ¥ Lyman

B. #* Paschen

C. #* Brackett

D. * Pfund

Question Number : 182 Question Id : 97675510763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T YT IRISTHT &5 T 37Tl 82
Options :

A. ¢ dlFT

B. % U

C. ¥ §dc

D. * s

Question Number : 183 Question Id : 97675510764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mass of 12C atom ?

Options :

A. ¥ 1.99 x 1026 kg

B. % 1.99 x 102 kg

C. % 1.99x 102 kg

D. % 1.99 x 103 kg

Question Number : 183 Question Id : 97675510764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
12C URHTY] BT GHHT TGN
Options :

A. ¥ 1.99 x 10726 fooulT

B. % 1.99 x 1025 foodT

C. % 1.99 x 1024 {1

D. % 1.99 x 1023 foour

Question Number : 184 Question Id : 97675510765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The element gold has isotopes.
Options :

A. % 30

B. ¥ 32

C. % 34

D. # 36

Question Number : 184 Question Id : 97675510765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP aa d RIS B &
Options :

A. # 30

B. ¥ 32

C. %34

D. # 36

Question Number : 185 Question Id : 97675510766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which statement is false for nuclear force?

Options :

A. # The nuclear force between two nucleons falls rapidly to zero as their distance is more than a few femtometers
B. # the nuclear force between neutron -neutron is same

C. ¥ the nuclear force is much less than the coulomb force

D. # the nuclear force is independent on the electric charge

Question Number : 185 Question Id : 97675510766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR §d & Y 3 HYF 1 82

Options :

A. % QI TIIYeT o dTe TSI 9 doll o X 81 oiTdl ¢ 1T 3d! g3l & WIHCHIER I 31 gidl §
B. % YH-YZI- & §rd YA & THH §

C. ¥ URHT] 9 s 9 J 9gd HH

D. * TRHTY] 5l fagyd SHTI< R Wil el &

Question Number : 186 Question Id : 97675510767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The half life of radium is 1600 years. What fractions of a sample of radium that would remain after 8000 years?
Options :
1
INE



Question Number : 186 Question Id : 97675510767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfeTH BT 3MYT ST 1600 I8 g1 IeTH & JUA b fba 3= 8000 TN P TG -2

Options :
1
A% 3

Question Number : 187 Question Id : 97675510768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What element will be formed if thorium -230 undergoes alpha decay ?
Options :

A. ¥ Radium-226

B. # Radium-234

C. # Uranium-226



D. #* Uranium-234

Question Number : 187 Question Id : 97675510768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QIR -230 T 31T & BIR IR HI IT ded S 117
Options :

A. ¢ A&TH-226
B. % I&TH-234
C. % QTH-226
D. ¥ AGH-234

Question Number : 188 Question Id : 97675510769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The expression for zero point energy which is a consequence of the Heisenberg uncertainty principle is :
Options :

A ED = Ijzf8m32
g % Eo=Dh/8ma’
c. % Ey=Dh/ma?

p. % Eo=Dh¥4ma’

Question Number : 188 Question Id : 97675510769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I foig St T Gt it grgeient SHfAfaar Rigid &1 heaasu ;




Options :
A ED - Ijszmaz

g % Eo=D/8ma’
C. & Ey= Iflrxﬂlﬂz

D % Eo=Dh¥4ma’

Question Number : 189 Question Id : 97675510770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

No electron conduction is possible between the Valence Band and Conduction band when
Options :

A = Eg <3eV

B. ®# E,<2eV

C. ® Eg>2eV

D. ¥ E,>3eV

Question Number : 189 Question Id : 97675510770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ar 98 3R I1a o8 & s Bl Sade - Iia- YYd g1 5, o1
Options :

A. % E,<3eVHl

B. ¥ E,<2e V@l

C. % E,>2eVEl

D.¥E,>3eVdl



Question Number : 190 Question Id : 97675510771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which diode is used as voltage regulator?
Options :

A. ¥ Zener diode

B. # Photodiode

C. # Light emitting diode

D. # Photovoltic devices

Question Number : 190 Question Id : 97675510771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T SRS BT IYTNT diecdl = & =u | foar siar g2
Options :

A. ¥ UR SIS

B. ¥ YbIX AIAD I SIS

C. ¥ TP IHoiD SIS

D. ¥ icldfccd IUDRUI

Question Number : 191 Question Id : 97675510772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is false for LED ?

Options :

A. ¥ High operational voltage and less power
B. # Fast action and no warm up time required
C. # Long life and ruggedness

D. # Fast on-off switching capability

Question Number : 191 Question Id : 97675510772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Td.3.31. (LED) & folT 19 1 Y 3/ 82
Options :

A. ¥ 3 TATAH diced! a4 S{U&THd B fad
B. % 20y fohd1 TRA B & o Pig 0T 8] A1
C. % 3P Y IUT e

D. % ol 3l - 3T * G- ] &l

Question Number : 192 Question Id : 97675510773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the angle of projection to find the maximum horizontal range by a projectile?
Options :

A. % 30°

B. ® 60°

C. ¥ 45°

D. # 90°

Question Number : 192 Question Id : 97675510773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAPHaH &Sl URTY & oY H& ST H&ul HIu o1 gR
Options :
A. % 30°
B. # 60°
C. ¥ 45°
D. # 90°

Question Number : 193 Question Id : 97675510774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The loss of strength of a signal while propagating through a medium is known as
Options :

A. # Modulation

B. ¥ Attenuation

C. #* Transducer

D. * Repeater

Question Number : 193 Question Id : 97675510774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot ATemH T TR & 91y e &1 ugadn H &fa P B
Options :

A. ® HIgaRH

B. ¢ &urd

C. ¥ TR

D. ® JRIGAD

Question Number : 194 Question Id : 97675510775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To transmit music an approximate bandwidth of is required.

Options :

A. %* 12 kHz
B. ¥ 18 kHz
C. ¥ 20 kHz
D. #¥ 26 kHz

Question Number : 194 Question Id : 97675510775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gifid oI g HRA o forg DI AT 98 ASTS BT ARIHAT It 5 |



Options :

A. % 12kHz
B. # 18 kHz
C. ¥ 20 kHz
D. * 26 kHz

Question Number : 195 Question Id : 97675510776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of frequency band for uplink in satellite communication?
Options :

A. ® 3.7-42 GHz

B. ® 4.2-5.6 GHz

C. ¥ 5.925-6.425 GHz

D. # 6.5-7.642GHz

Question Number : 195 Question Id : 97675510776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUUE TR & S ffe & fore sigfcy o' &t diar @ g
Options :

A. * 3.7-42 GHz

B. ®# 4.2-5.6 GHz

C. ¥ 5.925-6.425 GHz

D. # 6.5-7.642GHz

Question Number : 196 Question Id : 97675510777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an antenna radiates electromagnetic waves from a height 40 m then what is the range of transmission of the wave ? Given radius of earth = 6.4
x 10% m.

Options :



A. ¥ 22,63 km
B. # 21.59 km
C. # 23.45km
D. * 25.34 km

Question Number : 196 Question Id : 97675510777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁg@mmrﬁaﬁ&wéﬁﬁqu B N BT [AfBINT BT § Ol T P ATRT BT URIR a1 g2 Godt Bt Fsar 6.4 x 106
Options :

A. ¥ 22.63 Tl

B. % 21.59 fopdit

C. % 23.45 fopuit

D. % 25.34 fopdt

Question Number : 197 Question Id : 97675510778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One of the types of normal galaxies is:
Options :

A. # ventricular

B. ¥ lenticular

C. * septicular

D. # vavioler

Question Number : 197 Question Id : 97675510778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Tt el & RI A A T & -

Options :



A. ® g (ventricular)

B. ¢ HYRIDIX (lenticular)
C. =

RIREINN

D. ®

1IR3 [NEY

Question Number : 198 Question Id : 97675510779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The absolute magnitude (Mg) of a giant galaxy as suggested by Hubble is-

Options :

A. ¥ Mg <-20
B. # Mg >-40
C. ¥ Mp <-20
D. # Mg >-20

Question Number : 198 Question Id : 97675510779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & BRI o IR GIFd Helidb =11 oI FARUE Hifcd — A (M) BT -
Options :

A. % Mg <-20

B. ¥ Mg >-40

C. ¥ Mg <-20

D. ¥ Mg >-20

Question Number : 199 Question Id : 97675510780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If L*=2 % 10" Lg is a characteristic galaxy luminocity. then the luminosities of a giant
elliptical is-

Options :

A ® L>L*
B. ® L<L*
C.®%L=L*
D. ¥ L>L*

Question Number : 199 Question Id : 97675510780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T L*=2 x 1010 Lg faeiwar HhrenRn a6 & § dF Us &d gregearsi
$r TAF g

Options :

A ¥ L>L*
B. % L<L*
C. % L=L*
D. ¥ L>L*

Question Number : 200 Question Id : 97675510781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface brightness of the disk at a distance r from the centre and the disk scale length ry
, measured along the mid plane of the disk is given by- :

Options :

A. ¥ 14 (r)=14(0) ™

B. # Id (r) =1d (0) e-r/rd

C. ¥ 14 (r) =14 (0) e™rd



D. ¥ I, (r) =14 (0) "™

Question Number : 200 Question Id : 97675510781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TPl B JF G % U r g3 IR § SR Thd adls 1y
g, o &% & \ed aa o |1 AT T ¢ | 98 81T —
Options :

A, #® 14(1)=14(0) ™

B. # Id (r) = Id (0) e-r/rd

C. ¥ 14 (r) =14 (0) e™rd

D. ¥ 14 (r) =14 (0) "™

Discipline6

Group Number : 11

Group Id : 976755304

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline6

Section Id : 976755629

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755746
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 97675510782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many globuler cluster are associated within our galaxy?
Options :

A. # about 100

B. ¥ about 150

C. % about 400

D. # about 1000

Question Number : 201 Question Id : 97675510782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Helfd ¥ I8 fhda MareR dRS & |
Options :

A. * ITHIT 100

B. ¢ ¢ITTHIT 150

C. * THIT 400

D. * ITHIT 1000

Question Number : 202 Question Id : 97675510783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An active galaxy produces energy at the rate of
Options :

. 107- 10" ergs §™
A.

. 10%-10%ergs §™

10*-10" ergs 8™
C.v¥

- 10*"-10" ergs §™

Question Number : 202 Question Id : 97675510783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TfhT Al BT ol Iel P P e gl gl

Options :

. 107- 10" ergs §™
A.

- 10%- 10" ergs 87

10*-10" ergs 8™
C.v¥

- 10*"-10" ergs §™



Question Number : 203 Question Id : 97675510784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose we have a spherical system consisting of N particles that are interacting gravitionally. If the position of the ith particle be r; and its
velocity V; then total kinetic energy is :

Options :
I N
T=m);_,
A=
T= Z Ly mEV
B. #

_1oN 7
T—E i=1 mi-‘r'lli_
C. =

1
T=5m2ilﬁﬁ
D. ¢

Question Number : 203 Question Id : 97675510784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T NRAT b T et Fiepra N Uil Q &1 & o ureuRes ot fopamt 81 <6 8 1 9 & 1 i Uy abt UM 1 3R SqepT1 A7 v, | 7
S Tl Sl gr:

Options :

. T=m}Y}, V;



TZlm1

B. ®
1N 5
- T:E i=1 miVi-
T——I]lz =1 Vlj
D. ¢

Question Number : 204 Question Id : 97675510785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the value of spectral index, o < 0.4 , the spectrum is called
Options :

A. # Steep spectrum

B. # High spectrum

C. # Low spectrum

D. ¥ Flat spectrum

Question Number : 204 Question Id : 97675510785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ve a<04, NWIRHAD__ PBd 5l
Options :

A. ® W3 qufeH

B. % I quichH

C. ¥ & quichH

D. ¢ GHAd dUishH

Question Number : 205 Question Id : 97675510786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which classification of active galaxy have no prominent emission lines and the spectrum is dominated by a continuum?
Options :

A. ¥ BL Lacertae object

B. # Optically violent variable

C. % Star Burst Galaxies

D. * Seyferet Galaxies

Question Number : 205 Question Id : 97675510786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 Halfh gl & o aviferor & WaeH H UHa Ioi- 344 781 g iR WaeH H Jerd: Jiddd 82
Options :

A ¥ S TA AHe

3{leside

B. ¥ UDHIRId: UiS Thif~i fUug

C. ¥ AR WhIc Helfdbal

D. % W HalfdbHar

Question Number : 206 Question Id : 97675510787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measured latent heat of water is 2256 J/g .At atmospheric pressure ,1 g of water has a volume lem? in liquid phase and 1671 cm
phase .Then the value of AU is:

Options :

A. % 1069.2]
B. % 2069.2]
C. % 1086.81J
D. ¥ 2086.8J

3in vapour

Question Number : 206 Question Id : 97675510787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ot S AT 718 T ST 2256 S/ g | a-gHSHT &1 W, 1 T8 UTHT 67 a1 om3 % B UTaRT & 7T ISy TaRAT H 1671 om’
BT g | AU ST H GHTI:

Options :

A. % 1069.2 I

B. % 2069.2 @

C. % 1086.8 I

D. ¢ 2086.8 S[@

Question Number : 207 Question Id : 97675510788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An isotherm is

Options :

A. ¥ The pressure-volume curve for a fixed temperature
B. ® The pressure-temperature curve for a fixed volume .
C. # The volume-temperature curve for a fixed pressure

D. # Specific heat-pressure curve for a fixed volume

Question Number : 207 Question Id : 97675510788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS GHATH BT & -

Options :

A. ¢ T [Higd doeHE & AT g9 - 3adq a%

B. # U& Mid 3mad o U qe-arge = a%

C. * U [I¥d a9 & foIu faa=-arge= as

D. ¥ T [fYd mad & fore falRy Sw1-game am



Question Number : 208 Question Id : 97675510789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is false for extensive variable?

Options :

A. # Extensive variable indicates the size of the system.

B. # The variable whose values get halved in each part are extensive .

C. # The product of an intensive variable like P and an extensive quantity AV is extensive

D. ¥ Pressure,temperature ,and density are extensive variable

Question Number : 208 Question Id : 97675510789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faediiof == (extensive variable) %mﬁ:{wiﬁlﬁ%‘?

Options :

A. % faEiivl @R Mo & THR DI SR dRd g |

B. % f5 =R T A &R W & 311 81 a1 §, 3% fawiiof R gl B

C. % Tt T8 TR SR p T fawciiof 1 AV &1 T E fawdiol IRk |
D. ¢

Question Number : 209 Question Id : 97675510790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which process no work is done on or by the gas?
Options :

A. ¥ Isochroic process

B. # Isothermal process

C. # Isobaric process

D. # Adiabatic process

Question Number : 209 Question Id : 97675510790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Tep T B 7l 1 R IS B giam 3 3R 1 &) 19 gRI B1S ref o g 82
Options :

A &

U3 Ulchd (Isochroic process )

B. # Wm(lsothermal process )

C. %

UGS X1 UfehdT(Isobaric process )

D. #

Pl 1J’%EIT(Adiabatic process )

Question Number : 210 Question Id : 97675510791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of a refrigerator the working substance does not go through which of the following steps?

Options :

A. # Sudden expansion of the gas from high to low pressure which cools it and converts it into a vapour -liquid mixture
B. ¥ Heat is absorbed by the surrounding and change liquid to vapour

C. ¥ Heating up the vapour due to external work done on the system .

D. # Release of heat by the vapour to the surroundings bringing it to the initial state and completing the cycle .

Question Number : 210 Question Id : 97675510791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wRiids & FGR! yard Fafafad & § foy aror @ 78t Torar 82

Options :

A * IFIFG P &7 F N H e TR gl § 9% RO 98 31 81 911l § 9UT arg-5d g & Fuialkd gf St 8
B. ¥

ST MUY & GRT AT I @ IR R I Iy H dead el @

C. % o™ IR {HT U 1.1 1 GRT ars &1 TR g1

D. ¥ 3 GRT URA H WA Jad TReb HIRIBR] Uard b U a9 TR HR G: 0T SRING a1 H g aF g |




Question Number : 211 Question Id : 97675510792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for carnot engine?

Options :

A. # A carnot engine is an irreversible engine

B. # Working between hot and cold reservoirs, other engine can have more efficiency than a carnot engine
C. # The efficiency of carnot engine is one

D. ¢ The efficiency of the carnot engine is independent of the nature of the working substance

Question Number : 211 Question Id : 97675510792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E1|7—|7'|"f33|7'f(carnot engine)%ﬁmﬁqm$ﬁwg‘?

Options :

A. ® TP B 3o U SJehHUIT §oi9 §

B. ® T 3R 38 IR & &iid BT B3 aTd 3= 301 H U §oid I o1 | TP el 81 Ibell &
C. * T $oi PI G&fdl Ueh BIell &

D. ¥
HIC G0 B! G&Idl BRI Uard B UPHfd I W i o

Question Number : 212 Question Id : 97675510793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is false for a quasi-static process?

Options :

A. # Itis an infinitely slow process

B. # The system remains in thermal equilibrium with surrounding

C. ¥ The pressure and temperature of the process are same with the environment

D. # The system remains in mechanical equilibrium with the surroundings



Question Number : 212 Question Id : 97675510793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIfde BT UlhaT & forT o9 1 By 383 82

Options :

A. % T8 U% 3RfiH =U ¥ efiht uferan §

B. % fog ufiadw & a1y adtg ar & 3gar g

C. ¥ Ufshd1 &1 gaTd 3R dyH yafarur & 61y SHHE ghaT |
D. * e uRaw & 91y gifs I #3gdr g

Question Number : 213 Question Id : 97675510794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In complex Fourier series, the value of coefficients a is

Options :

T/2
o _f_szf(x)dx

Ty
- jT,fz f(x)dx

I

E T/2 f (K:]'d.!{

1 J-T,.‘E
T J-T/2
D.

f(x)dx

Question Number : 213 Question Id : 97675510794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Gﬁﬁ(complex)qﬁwmﬁw%mm g

Options :
TR

o _szf(x)dx

T
. fT #,z’fz f(x)dx

1 T2

o % T2

f (x)dx

1 oT/2
= _]'_T’,Ef(x)dx
D. ¢

Question Number : 214 Question Id : 97675510795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What will be the dispersive power for wavelength 2A, if dispersive power is 'D' for wavelength A?
Options :
D

AV 8

[ N



Question Number : 214 Question Id : 97675510795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
T ¢ 24 P fore fagruor emyer o gt afe oo S o & o e emar ' 82
Options :
D

A& 8

k| D

Question Number : 215 Question Id : 97675510796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Laplace integral is represented as
Options :
oo
e_pxzz_p cuskxd;r::x EU,p ~ 0

G T
A ]'TU pe+k



o0

i coskxdx

e =B} T = 0p>0
T J, p?+k2

o0
= 21 coskx dx
g PE=— ———x=p>0
p pr+k?

Lra
= 2p cosxdx
px — 28 == g
e i p2+k2=x20,p}0
D. % 0

Question Number : 215 Question Id : 97675510796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TR B & U H 2T ST 82
Options :
oo
o~ Px — E_I}j —mzkxjx: x=0,p50
AV L pe+k

B ® T p?+k2
or [ coskxd
= T COSKX aXx
e P* =— ———x=0p=0
P pi+k?
C. & a
2p [ d
L COSX adx
g Px =B 8 = 0,p>0

D % T ), pr+k?



Question Number : 216 Question Id : 97675510797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a function f{(z) is analytic and its derivative is continuous at each point within a simply connected region R, then for every closed path C in R
the line integral of f(z) around C is zero. This sentence3 describes:

Options :

A. ¥ Laplace's integral Theorem
B. ¥ Cauchy's integral Theorem
C. # Contours Integral Theorem

D. # Fourier's Integral Theorem

Question Number : 216 Question Id : 97675510797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BIg W f(z) [ARAVUITES g 3R IUDT Sfadhars] U YR JIIoidh &7 R & HidR Td® fig R Idd 8, AR A UIAH g U C &
foT ¢ & TR 3R flz) P XW AAHAI LI AN S T8 Feandi ol

Options :

A. % AN ST 9HIGA T (Laplace Integral Theorem)

B. ¢ E|7—\|1?ﬂ$[“\:F‘:|'IWFl'vqt[(Cauchy's Integral Theorem)

C. &
A THIG A QﬁH(Contours Integral Theorem )

D. # W CARSEIEAN] 1;I'J?ltf(F ourier's Integral Theorem )

Question Number : 217 Question Id : 97675510798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Euler identity is represented as

Options :

A. % i0 =cos0 + i sind

B. % ¢ =sinf + cosd



C. ¥ % =gind + icosd

D. ¢ ¢ = cosh + isin®

Question Number : 217 Question Id : 97675510798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R JAGIHBT Dl & ® 0 H i S gl
Options :

A. % 10 = cosb + i sinf

B. ¥ ¢%=in0 + cosd

C. % ¢9=gino + icosd

D. ¢ ¢l% = cos + isin®

Question Number : 218 Question Id : 97675510799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The real and imaginary parts u(x, y) and v (X, y) of an analytic function f(z) separately satisfy the two dimensional Laplace equation and are
known as

Options :

A. # Logarithmic function
B. ¥ Harmonic functions
C. # Differentiable function

D. # Memorphic function

Question Number : 218 Question Id : 97675510799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wé&@mf(z)$qlmﬁ¢ 3R HIAFE T u(x, y ) R v (x, v ), &l STATH! AU FHIBRUT BT SEHT-3HET TP FRd & AR 3=
|

Options :
A ® WW(logarithmic function)



B. ¢ YUl e (Harmonic function)
C. % faUq® WaH (differential function)
D. #

e Ba (memorphic function)

Question Number : 219 Question Id : 97675510800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The complete group of symmetry for diatomic molecules do not contain the element of the following?
Options :

A. # Axial rotational symmetry about the line joining the atoms

B. ¥ The reflection symmetry in any plan other than vertical passing through the line of atoms

C. # Two fold rotational symmetry about any horizontal axis passing the centre of the molecule

D. # Reflection symmetry in a horizontal plane passing through the centre of the molecule .

Question Number : 219 Question Id : 97675510800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &1 91 da fEuRATE 3U[3H (diatomic molecules) P oI TH=UAT & QR g H 761 81T 82
Options :

A %

RATI[3 1 B arell X6 & aR H TRIdA IRAT FEegdl

B. ¢ TRUTYS P} XA Y ToRA dTdl dadd o 3farar fapdt ot gremn o ufafda osuar
C. % MU & g Y 7o areil faat o &faet sfef & SR & Gl A1 Ui IHeud

D. % 3V F hg J ToRA dTd &fas ad H TR S|

Question Number : 220 Question Id : 97675510801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of elements can be split into subsets such that all the elements are conjugate to each other, the similarity transformation being done by
some element of the group itself, but no two elements belonging to two different subsets are conjugate to each other. Such subsets are called :

Options :



A. *# Cyclic group

B. # Symmetric group
C. ¥ Classes of the group
D. # Permutation gropup

Question Number : 220 Question Id : 97675510801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3faTal & g B ST H 39 UHR  fauifora foan o waar g i a+t a te gak & 91y 9gfd 814 &, Hﬂﬁ%@w g4l gRI B!

%Wtrhaﬂqgmww%Wﬁmmmwﬁw@aﬁ%ﬁﬁww@%wawﬁmﬁsﬁ , U Uyl
KT gl Vldl & ?

Options :
A ®
EER) HHg(cyclic group)
B. #
JAafHd HHg (Symmetric group)
C.¢
JHe G| H &M (classes of group)
D.
HHYNGA HHg (Permutation group)
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Question Number : 221 Question Id : 97675510802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a basic property of similar matrix?

Options :

A. # A matrix is similar to itself

B. ® A is similar to B if and only if B is similar to A

C. ¥ If A is similar to B and B is similar to C then, A may not be similar to C

D. # Similar matrices have the same characteristic polynomial and hence exactly the same eigen values including multiplicities .

Question Number : 221 Question Id : 97675510802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T Ueb A TG BT Hel 70T el &2

Options :

A. % T 3ToYg W & A §

B. % A, B GHM g, I 3R Had Afe B, A P M ©



C. Y G A, BHIHME R B, CHJHA R, dl A, C & JHH e &1 Ihdl &
D. ¥ A 3HTgg! & A A& OIE TgUS 8id & MR TfIE uH Ifed faepd Ium sifiyaefie 7 g ]

Question Number : 222 Question Id : 97675510803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the two operations of complex conjugation and transposition are carried out one after another on a matrix ,the resulting matrix is called :
Options :

A. # Transposition conjugate
B. ¥ Hermitian conjugate

C. ®¥ Complex conjugate

D. # Simple conjugate

Question Number : 222 Question Id : 97675510803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O SIfed T (BRI HISRIR) 3R UREdH (STUISIRM) & & Afsharsli e & ale Ue 3HTedg W fHu ord 7, df akomidt enegg
HEAN &:

Options :

A. ® ORadT W’q (Transposition conjugate)

B. ¥

g&ﬁ%&ﬂ W(Hermitian conjugate )

C. &

Sfed HYH(Complex conjugate )

D. ¥ I IGH (Simple Conjugate)

Question Number : 223 Question Id : 97675510804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the diagonal element of a matrix is called the of the matrix.
Options :

A. # Eigen value



B. ¥ Trace
C. ¥ Inverse

D. # Transpose

Question Number : 223 Question Id : 97675510804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TgE & faamul da & TN BT ST HT IR IGII
Options :

A. % QO 7 (31T 9M)

B. ¥ 3% (2H)

C. % gfadH @ad)

D. % gRad (i)

Question Number : 224 Question Id : 97675510805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The alpha radiation is not used in radiotherapy because:
Options :

A. ¥ It is unable to penetrate human skin

B. # Itis not easily available

C. # [tis toxic to human tissues

D. # Itis extremely costly

Question Number : 224 Question Id : 97675510805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & srewhT fafeor o1 JuahT TEt famar s § wiife:
Options :

A. ¢ I8 O1Fd 91 & Yo H § oy §

B. * Ug 3 § Suae el 8



C. ¥ Ug HMd S| & foad favad §
D. ¥ g 983 WM §

Question Number : 225 Question Id : 97675510806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The temperature range covered by an iron -constantan thermocouple is to
Options :

A. % -220°C to 1300° C

B. ¥ 0°Cto 1700° C

C. ¥ -200° C to 760° C

D. # 100° C to 500° C

Question Number : 225 Question Id : 97675510806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TORA-HIc e AU o I daTaHH g HGIE
Options :

A. % 220°CEH 1300°C

B. ¥ 0°C ¥ 1700° C

C. ¥ -200° C ¥ 760° C

D. ¥ 100° C I 500° C

Question Number : 226 Question Id : 97675510807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the normal frequency of L-C circuit?
Options :

1 e
2;1""
A *



1 1
2n \*I'.{."

Question Number : 226 Question Id : 97675510807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L-C URTY &1 Wryifddh 3rgfa & gt
Options :
> JIT
2 Y
A #
1 1
2w LG
B.Y
1 |
21 L



Question Number : 227 Question Id : 97675510808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the second law of thermodynamics the entropy of the universe :
Options :

A. % Can decrease

B. ¥ Can never decrease

C. # Can be zero

D. # Can be infinity

Question Number : 227 Question Id : 97675510808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIYARTST & g 90 & SR Sl &t T
Options :

A. % H g¢ Tl §

B. ¢ 41 Uc gl Febdil

C. % I IHdI g

D. ¥ 3fd 5 UHhdl o

Question Number : 228 Question Id : 97675510809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the frame of reference in which Newton's first law holds true?

Options :



A. # Internal frame
B. # Uniform frame
C. # Intersticial frame
D. # Inertial frame

Question Number : 228 Question Id : 97675510809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g U e T g Forad e &1 ugdl w9 ghm
Options :

A. % 3fidRe A

B. % 3URdcRNd HhH

C. % SfRIBRI BH

D. ¢

S BH

Question Number : 229 Question Id : 97675510810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principle of relativity is :

Options :

A. # The speed of light has same constant value in all inertial frames of reference
B. # The speed of light should be the same in all uniformly moving systems

C. ¥ The laws of physics are the same in all inertial frames of reference

D. # The laws of physics are different in all inertial frames of reference

Question Number : 229 Question Id : 97675510810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :



A. % gt STecdia Il § U1 & T1fd &1 IHE RR A 8l 8

B. ¥ gt Tm=udr AfaHH Yumferdl § UhI=T &t i THH 8- alied
C. ¢ gy s g A # Wifdet & an ga= 8

D. * Juff STedia Bodl § Hifae! & o m g

Question Number : 230 Question Id : 97675510811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a particle that travels at the speed of a light?
Options :

A. # Electron

B. ¥ Positron

C. ¥ Photon

D. # Proton

Question Number : 230 Question Id : 97675510811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHTR P i T AT B T HUN BT T UG IS8 &

Options :

A. % Zddg

B. ®

C.¢

BIeH
D. ¥ UleH

Question Number : 231 Question Id : 97675510812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relativistic linear momentum of a particle of rest mass m, moving with velocity V is defined by:



Options :
=" 7 2 1a2y172
A% P=-myv/(1 + v4/c?)

- P=mv/(1 + v¥e)?
B. #
C. % P=mgv/(1 - v*/c?)

P=m.v/(1 - v¥/c?)12
D. ¢

Question Number : 231 Question Id : 97675510812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U DU, forgeT fovMm- gauaH (mg) %, TV A A HR el %, GIRRERCINIED IRAH T (relativistic linear momentum) EﬁTIT-

Options :

| x P =-mgv/(1 + v3/c?)!?2

B. #

- P=myv/(1 - vi/c?)

P=myv/(1 - v¥/c?)1?
D.

Question Number : 232 Question Id : 97675510813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Quasars can be observed in many parts of the electromagnetic spectrum except
Options :

A. ¥ Radio

B. # Infrared

C. ¥ Visible ray

D. ¥ Gamma rays

Question Number : 232 Question Id : 97675510813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR P! faggd T g gl & Hs [oxdl | o o ¥l g, A ;
Options :

A. ® Sl

B. # 3{d¥dd

C. ¥ Ug fur

D. * 7 fobror

Question Number : 233 Question Id : 97675510814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a notable consequence of the uncertainty principle?

Options :

A. # The path of particle is not defined in quantum physics

B. # Electrons do not exist inside the nucleus .

C. # Atomic oscillators pass a certain amount of energy known as Zero point energy ,even at absolute zero temperature

D. % The position of particle is defined in quantum physics

Question Number : 233 Question Id : 97675510814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafea & § o= a1 sifAfad Rrgia (uncertainity principle)®I gy &t %‘?

Options :

A. % HicH Hifaet # &7 &1 uy gRYTT 781 §

B. % T & e SaC HIojE ol sld o |

% ® tl%Tnt AR (%chl'?-lob 3frefteiey) WY I a9 R o ue [Hfd 7mn § Solf yarfed wxdr g ford I fofg Sl (IR aree Tl
=0 I ST STl

D. ¢ HU B R B Dicw Wifde! § ulRurid fear mn g

Question Number : 234 Question Id : 97675510815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time independent Schrodinger equation is

Options :
2
i ¥ (x) + v(x) ¥ (x) =E ¥(x)
A ® 2m
- — ¥ () +V (1) ¥ () = E ¥(x)
hE
c % m Y (x+v ()Y x)=E¥ &
- — ¥ () +V () ¥()=E ¥ (x)

Question Number : 234 Question Id : 97675510815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y WA e W(schrodinger equation) %:



Options :
2
i ¥ (x)+v(x) ¥ (x)=E ¥(x)

A ® 2m
B _:Ti ¥ (x)+v (x) ¥ (x)=E ¥x)
C % _;T:ﬂ‘ (®+v () ¥ (x)=E ¥ (x)
- —%‘Ef{xwwxw(xpwm

Question Number : 235 Question Id : 97675510816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not the boundary condition for the wave function WY(x)?
Options :

A. # Y(x) should be single valued everywhere

B. ¥ ¥(x) should be infinite

C. # ¥(x) should be square-integrable

D. # both ¥(x) and d¥/dx should be continuous everywhere

Question Number : 235 Question Id : 97675510816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B Y(x) & e FafaRed & @ o 3l ufasy T8 82
Options :

A. ¥ ¥(x) B S8 Uhd HeddM™ ES\I-II SIIHY

B. ¥ ¥(x) 3d g A1ieT




C. ¥ Y(x) TMBHR UGG g1 AT

D. ¥ gFI ¥(x) 3R d¥/dx T foig TR Fdd g1 A1eu

Question Number : 236 Question Id : 97675510817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The operator [@* (D ¥) dt = [(Dy@)* ¥ dt is known as-

Options :

A. ¥ Hermitian
B. # Hamiltonian
C. ® Parity

D. # Orthonormal

Question Number : 236 Question Id : 97675510817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H=Tel [@* (Dyp¥) dt = [(Dypp)* ¥ dt ¥ ¥ H FAT A1GT 8-

Options :

A. ¢ giifeTT

B. % gffeeifATm

C. % ey (U

D. % YA difgd (e

Question Number : 237 Question Id : 97675510818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is false for a spherically symmetric potential?
Options :

A. % It depends only upon the radial coordinate r



B. # Itis independent of the polar coordinate
C. ¥ It depends on the polar coordinate

D. # It depends only upon the radial coordinate r and It is independent of the polar coordinate ¢

Question Number : 237 Question Id : 97675510818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MAreR AT faHa & oI S 91 HU 7Tad 82
Options :
A. % U8 Pad 3R Fdwie r R ARk sarg

B. #®

C.v
gg ydig fAdzie W R Harg
D. ¥ U8 $ad AR FAewid r R 1R Ha1 ] 3R I8 Ydig Fexie ¢ T W §

Question Number : 238 Question Id : 97675510819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electron of mass M of the atom has an angular momentum L .Since this electron has a charge e and is moving inside the atom then the
magnetic moment of the electron is:

Options :
[ =4
=k
A ® M5
e
p=——1.
B. v . 4K
e
L=-L
“ i

C. #



= ==L
238 -

Question Number : 238 Question Id : 97675510819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe; YRHTY] & FoHI y b Seragi- I BIUNg JaTT L B 1 <ffdh 3 Siag i+ T 34T ¢ © 3R 98 TRATY & Hid 7T b Y81 8, ol Seraei- bl
491 STl g :

Options :
[ =
=k
A ® L5,
B. ¥ 2H
e
pr=-L
C. % 3
u=—L
D. =

Question Number : 239 Question Id : 97675510820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the lightest nucleus of hydrogen whose mass is 1.673 x 1027 kg and radius is 1.2 x 10"15 m, then the density of nuclear matter is -
Options :

A. % 23x 107 kg/m

B. ¥ 2.3 x 1016 kg/m?



C. % 23 %107 kg/m
D. ¥ 2.3 x 1017 kg /m?

Question Number : 239 Question Id : 97675510820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BIESIoM BT Yo geab AN o] SHM 1.673 x 1027 {1 8 SR B4 1.2 x 10715 Hex §, O TRATY] Uerd &1 99 6:
Options :

A. # 23 x 107 kg/m

B. ¥ 2.3 x 1010 kg/m?

C. % 23x 10" kg/m

D. ¥ 23 x 1017 kg /m>

Question Number : 240 Question Id : 97675510821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following nuclear fission reaction. 1[5.11 + ng;U-}Hljf,Ba-i- +
30 4200 MeV

Options :

A. * Xe

B. ® La

C. # Ge

D. ¥ Kr

Question Number : 240 Question Id : 97675510821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrafafle A Rdsa safs & q@ #7 o+ U= Bat +
3'on +200 MeV



Options :
A. # Xe
B. # La
C. # Ge
D. ¥ Kr
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Question Number : 241 Question Id : 97675510822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the ratio of acceleration of an electron and a proton,if they are placed in a uniform electric field?
Options :

A. # zero

B. # One

C. ¥ In aratio of proton and electron masses

D. * In a ratio of electron and proton masses

Question Number : 241 Question Id : 97675510822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ZAF 3R TH Ui o &R0l T SUTd 1 8T, Tfe 3% Th THH faggd & H @1 oe?
Options :

A. % T

B. ¥ Udh

C. ¥ UITH 3R SAdeH & STH! & SfJard H

D. ¥ Saldc{ Td g & SoudM & Ui o

Question Number : 242 Question Id : 97675510823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relative biological effectiveness (RBE) of fast neutron is
Options :

A. ¥ 10

B. % 8

C. %5

D. ¥ 4

Question Number : 242 Question Id : 97675510823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AW =T @ M Sifaes guTasiierar (3ReTs) gl
Options :

A. ¥ 10

B. # §

C.®5

D. % 4

Question Number : 243 Question Id : 97675510824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AVF cyclotrons produce energies beyond for protons .
Options :

A. % 400 MeV

B. ¥ 600 MeV

C. % 800 MeV

D. % 1000 MeV

Question Number : 243 Question Id : 97675510824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AU, (AVF) STgaRicH WeH & fag T 3P ol ST FRA G |
Options :

A. % 400 MeV

B. ¥ 600 MeV

C. % 800 MeV

D. # 1000 MeV

Question Number : 244 Question Id : 97675510825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not a fundamental force in nature?



Options :

A. # Gravitational force
B. # Electroweak force
C. # Strong force

D. # Frictional force

Question Number : 244 Question Id : 97675510825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafefed & @ S upfa # gayd sd TR g 2

Options :

A%
TSATHYUl §d
B. ®

fdggd gad a@
C. % Tg A

D. ¢
YU §

Question Number : 245 Question Id : 97675510826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relative strength of electromagnetic force is in the order of
Options :

A. ¥ (102

B. ¥ (107)

C. % (10%

D. % (107)

Question Number : 245 Question Id : 97675510826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fIqgd I g o B STUfS Taed! DI AR
Options :

A. ¥ (102

B. ¥ (10)

C. % (10%

D. ¥ (10™)

Question Number : 246 Question Id : 97675510827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between air drag and velocity of the object is :
Options :

 Airdrag o V
A #

Air drag o VV
B. ®

Air dragﬂlé
C. %

Air drag o< V?
w

Question Number : 246 Question Id : 97675510827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X & AT 3R a1 HYUT (TR $71) & &g &Y &

Options :

Y FT « V

A *



5w T FE o\

C. A 5

D'JEFI'EEF&UTGC‘W

Question Number : 247 Question Id : 97675510828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between centripetal force and radius of the circle is
Options :

g % FeoX I

Question Number : 247 Question Id : 97675510828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3z 9 3R gd &t a1 & o9 dey &

Options :



B. B ch I'E

Question Number : 248 Question Id : 97675510829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not a feature of motion under central conservative forces?

Options :

A. # The total kinetic energy is constant

B. # The angular momentum about the centre of force is constant both in magnitude and direction
C. ¥ The total potential energy is not constant

D. # The particle always moves in a plane perpendicular to the direction of the angular momentum

Question Number : 248 Question Id : 97675510829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ul T Heilg TRel 51 b ded Tid i [a=Iwd1 781 § 2

Options :

B. #

e % g 1 Iy Ty oRe SR Ran Al A RR T
C. v
ol RIS SHoif RR el 8

D. #



U g BT 71 o1 e & dagd IHad | i Hal §

Question Number : 249 Question Id : 97675510830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will happen, if proton is projected perpendicular to magnetic field?

Options :

A. ¥ No magnetic field effect on the motion of proton

B. # Proton will move in same direction but will get momentum

C. # Proton will continue to move in the same direction but will never gain momentum

D. ¥ It will turn in semicircle

Question Number : 249 Question Id : 97675510830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 N A Ui bl deep g & & derad & wafdd fpar Siar 82
Options :

A. % TCH &1 TTfd IR J9H1T & D1 YT g gHTl

B. % Yiei I = & w1fet SRy @ fobd Taw Ured S

C. % Tiei- 34t fa=m ¥ 71fd SRY @ b St o+ ot ured =18
D. ¢ Jg Il &b 919 H g S

Question Number : 250 Question Id : 97675510831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the eccentricity is less than one, then the conic section is
Options :

A. # Parabola

B. ¥ Hyperbola

C. ¥ Ellipse

D. # Circle



Question Number : 250 Question Id : 97675510831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ieh-5dl Uh T HH g, Al TFeR (V) TS BN :
Options :

A ®

Udely

B. % 3ffdURIed

C. ¢ dHgd

D. #

gd

Question Number : 251 Question Id : 97675510832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of non-ohmic resistance?
Options :

A. % Copper wire

B. ®¥ Carbon resistor

C. ¥ Diode

D. ¥ Wire of tungsten

Question Number : 251 Question Id : 97675510832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & O a1 sreiiHia ufiiRIY &1 3360 52
Options :

A. % Qi PTAR

B. ¥ P& UfeRlY

C. ¥ SIS

D. % AR B AR



Question Number : 252 Question Id : 97675510833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimension of the damping factor is:
Options :

I 1-1
+ x [MIL'T]

7 27-1
o % IMIL2T]

) i
C. % [N[“LIT 1]

b « 1U's a dimesionless quantity

Question Number : 252 Question Id : 97675510833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T HRP BT MR -
Options :

o » IMILIT)

.- [M'L2T-1]

o [M2LIT-]

b v T8 Ueh A §id AT 8



Question Number : 253 Question Id : 97675510834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an object is inverted in space with respect to a point (within it) and still remains invariant is knownas  symmetry
Options :

A. ¥ Inversion

B. ® Rotational

C. # Translational

D. # Reflection

Question Number : 253 Question Id : 97675510834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o s a%] ke H ueh fofg (@ HiaR) & Yafe I Iact gt 8 SR i ot suRad-ig ezl woffdd Sud SMrSare
Options :

A ¥ EI;UT:[-WUT (inversion)

B. # ‘J;Uﬁ)f (Rotational)

C. * WMWY

D. # m(reﬂection)

Question Number : 254 Question Id : 97675510835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of crystal system is present in potassium dichromate?
Options :

A. ¥ Triclinic

B. # Monoclinic

C. # Orthorhombic

D. * Trigonal



Question Number : 254 Question Id : 97675510835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OreRrd Srghite H fhd UHR &1 foheed YuTel! Hielg gkl & 2
Options :

A. ¢ e

B. # UpAdld

C. ® fqurdane

D. ¥ BpIuiy

Question Number : 255 Question Id : 97675510836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between crystal scattering factor (f;), geometrical structure factor (F) and lattice structure factor (S,) is :

Options :

A #® F=f,xS§,
B. ¥ F =S,
C. % S.=F xf,
D. # S.=2F/f,

Question Number : 255 Question Id : 97675510836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohRed UPIUH BRS (£,), SATHAT WA HRS (F) R D I HRS (S,) H ad 8 @ -
Options :

A ® F=1,xS,

B. ¥ F=1{/S,

C. ® S,=F xf,

D. # S, =2F/f,




Question Number : 256 Question Id : 97675510837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is particularly useful in determining the orientation of a single crystal ?
Options :

A. # Powder method

B. ¥ Laue method

C. # Bragg method

D. * Ewald method

Question Number : 256 Question Id : 97675510837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fobved & Hufa=ama & Py & o 9 fafy fady ©u § swanh 32
Options :

A. % OISR UGHd

B. ¥ TIST Ugfd

C. %

ST ﬁlﬁf(Bragg method )

D. % TAIeS UGHd

Question Number : 257 Question Id : 97675510838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At high temperatures heat capacity is independent of temperature and for all solid it is equal to: [R- equal to universal gas constant]
Options :

A. ¥ 3R

B. # 2R

C. % 5R

D. # 4R



Question Number : 257 Question Id : 97675510838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AT TR SSSHTYTRET arod & Waadd gidl 8 3R It 319 & o g9t A 81 [R-> e 1 fFadie)
Options :

A. ¥ 3R

B. ¥ 2R

C. ®# 5R

D. # 4R

Question Number : 258 Question Id : 97675510839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not an assumption of Drude -Lorentz theory about metals ?

Options :

A. # Valance electrons behave as free electrons and can move all around the volume of the metal

B. ¥ Negatively charged ions located at the lattice sites offers a uniform potential and influence the motion of free electrons
C. # The interaction between free electrons themselves is too small and can be ignored

D. # Free electrons behave as molecules of an ideal gas and obey kinetic theory of gases and the Maxwell Baltzman distribution law

Question Number : 258 Question Id : 97675510839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad o @ oI urgall & TR 9 g8-aiiet Rigid BT 4R =i 82

Options :

A. ® JOSIH T SACI Had sG] & 0 H STd8R HRd & 3R UTg & 3" & aRI 3R gH Tdhd o

B. ¥ SA% RId TR YT HUMARIT ST Th THMH [aUT UeH HRd & SR Gad SadeiHl oI 11 ! THTad Hd &
C. %

Tad 3ol & st IRER fohaT Wad 9gd 81T 8 IR 3 3¢l foaT S Jahdl §

D. %

Hod 3adeH U SHGRI T & U3 & T H IIGR I & AR 141 & 7ol RIGTd 3R HoIdd Slegorad [9avul BT PI UTad Bd &




Question Number : 259 Question Id : 97675510840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lorenz number for sodium metal is
Options :

A ¥ 217 x108 W Qk?

B. # 225 x 108 W QK

C. # 234 x 108 W QK2

D. % 237 x 10 W Qk~

Question Number : 259 Question Id : 97675510840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i urg ¥ R IR dem
Options :

A. ¥ 217 x108 w QK2

B. # 2.25x 108 W Qk2

C. % 234 x 108 W Qk2

D. # 237 x 108 w QK2

Question Number : 260 Question Id : 97675510841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between number density of electron (n) and the Fermi energy (Eg) of metal at T =0 k is given by :

Options :

n=1/4 (Sm/h’)” (Er)*

n=7 3 (4m/m’)** (Eg)



n=27m/3 (Sm/h’)’* (Ex)*”
C. =

n="10/3 (Sm/h’y” (Bx)™”
D. ¥

Question Number : 260 Question Id : 97675510841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T=0k R AR (n) P TS T 3R YT B! BH Sl (Ep) b o1 T GHT:

Options :

n="1 /4 (8m/h’)y” (E)”

n=73 (4m/h’)** (Ex)"”

n=21/3 (8m/h’)’* (Ex)**
C =

n=70/3 (3m/h’)” (Br)*”
D. ¥

Discipline9
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Question Number : 261 Question Id : 97675510842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Hall coefficient of copper at room temperature is:
Options :

A % (-1.70 Vm® A Tesla™")

5 v (-0.55 Vm® A Tesla™)



c » (+0.33 Vm’ A Tesla?)

b # (-0.30 Vi’ A Tesla™)

Question Number : 261 Question Id : 97675510842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B & dTIHH TR dfd BT gid 0N g :
Options :

A % (-1.70 Vm® A Tesla™!)
g v (-0.55 Vi’ A Tesla™)
c » (+0.33 Vm® A Tesla?)

p % (0.30 Vi’ A Tesla™?)

Question Number : 262 Question Id : 97675510843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not a type of amplifier according to circuit configuration.

Options :
A. ® Grounded base
B. # Grounded emitter

C. ®# Ground collector



D. ¥ Base emitter

Question Number : 262 Question Id : 97675510843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UHR &1 URTY I & 3IIUR Uaeis 8 g

Options :

A. % YIOfhd YR (A S-a¥)
B. # YIUfhd Ioid (¥ S8 THR)
C. % YHUfdhd WMe! (M3 s Haaey)

D. ¢ UR-IIH (Base emitter)

Question Number : 263 Question Id : 97675510844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an advantage of negative feedback?
Options :

A. ¥ It decreases the band width

B. ® It improves the stability of amplifier gain

C. # It reduces distrotion

D. # It increases the input impedence

Question Number : 263 Question Id : 97675510844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefyd o & &9 1 Homes GIHR &1 Ty 81 82
Options :

A. ¢ T8 38 B AISTS B HH IR 8

B. % Jg Yatid af o fRRAT # UR a1 8

C. * g faEun Bl FHFRATS

D. % g fAaw ufqeryr &l sgrar g



Question Number : 264 Question Id : 97675510845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The differentiator circuit is obtained by replacing Ry (Input Resistance) of an inverting amplifier by a

Options :

A. % Transistor
B. # Diode

C. # Rectifier
D. ¥ Capacitor

Question Number : 264 Question Id : 97675510845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfaard! yade (inverting amplifier) & Ry (ﬁa'ﬂ Elﬁlﬁ‘tll) Eall SR UfaRITUd b faved gay (differentiator circuit) UTtd foan
SIGI]

Options :

A *

ciforey

B. %
SIS
C. % [eFpRY
D. ¢

Gy

Question Number : 265 Question Id : 97675510846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a characteristic of IC LM 3807
Options :

A. # It has internally fixed gain of 50

B. ¥ Total harmonic distrotion is higher than 0.2%



C. # Output is also short circuit proof

D. # It can work on a wide range of supply voltage from 5 to 22v

Question Number : 265 Question Id : 97675510846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o ome . Ta.uA. 380 (IC LM 380) & faiwdr 81 82
Options :

A. ® &1 falRke U I MY Al (internally fixed gain) 50 g

B. ¥
ol TS faveuun 0.2% & 31 §

C. % YU Y URTY Y (ATe-Hiae Yb) off §
D. %
Tg 5 Y 22v & Y[ dlecsl B U favgd YAl IR HTH HR ol o

Question Number : 266 Question Id : 97675510847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a performance parameter associated with voltage regulator?
Options :

A. # Input regulation

B. ¥ Load stability

C. ® Temperature stability

D. # Ripple rejection

Question Number : 266 Question Id : 97675510847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®H dleed Hga® (FaH®) J8T T TeRH AMes T8l 82

Options :

A. ® 3rd fafaae

B. ¢



Question Number : 267 Question Id : 97675510848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In metal, relaxation time of electron:
Options :

A. % Increases with temperature

B. ¥ decreases with increase in temperature
C. # does not depend upon temperature

D. # suddenly changes at 400 K

Question Number : 267 Question Id : 97675510848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
uTgafl & Saiag i ol fagifaera (RelaRm):
Options :

A. % TUHH & Y TG e

B. ¥ §gd d19H & 1Y &4 gIdl §

C. * o R R T B ®

D. # 3@ 400 K & 950 oI1dl §

Question Number : 268 Question Id : 97675510849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is false for the sclera of the eyeball of human?
Options :

A. # Itis an opaque, fibro-elastic capula

B. ¥ It is soft



C. # It protects the inner part of the eye

D. # It withstands the intraocular pressure in the eye

Question Number : 268 Question Id : 97675510849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HFd & S=NdP & JdUcd o [T DiF I HUT A g 2
Options :

A. % T8 T SHURGRN, TAGR AGR HYaT §

B. ¥

Ig RA T

C. %

g 31 & ! [5R BY & BT §

D. * g 3{Ra T SARIf& TaTa BT Y1 63l &

Question Number : 269 Question Id : 97675510850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the very centre of the retina is a small yellowish depression, called fovea which contains
Options :

A. # Rods and cones both

B. # only rods

C. ¥ only cones

D. # neither rods nor cones

Question Number : 269 Question Id : 97675510850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ U & g H T Blcl Uil Td gidl &, o wifaa wer St e, forgs_ wnfe giar e

Options :

A. ® AR 3R AP I



B. ¥ Had YATD]

C.¢
&Had AP
D. ¥ 9l A1 9 81 UPp

Question Number : 270 Question Id : 97675510851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the refractive index of cornea?
Options :

A. % 1.33

B. ¥ 1.34

C. ¥ 1.38

D. %14

Question Number : 270 Question Id : 97675510851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT I WS Hed BT ST JaD b T 8l 32
Options :

A. % 133

B. % 1.34

C. ¥ 1.38

D. # 14

Question Number : 271 Question Id : 97675510852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The intensity of the polarised light reaching the detector is given by
Options :

A. % 1(0) = cos20

B. ¥ 1(0) =1(0) cos?0



C. % () =sin%0
D. # 1(0) =1(0) sin%0

Question Number : 271 Question Id : 97675510852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI I T a1 yfad UehTe ) el e R &) STt 22
Options :

A. ¥ 1(0) = cos20

B. ¥ 1 (0) =1(0) cos?0

C. % 1(0) = sin%0

D. ¥ 1(0)=I(0) sin%0

Question Number : 272 Question Id : 97675510853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a wave motion the relation between total energy (TE) and amplitude (a) of wave is :
Options :

A = [EXa

g x IEXl/a
c % IE1/a

p v TE «a*

Question Number : 272 Question Id : 97675510853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TH a1 1A & o $d ol (TE) 3R a1 & 31T (a) & ST J&U B

Options :
A % TEXa

5« IEx1/a
c » TE o 1/a?

b v TE x a2

Question Number : 273 Question Id : 97675510854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a suitable difference between Biprism and Lloyd's mirror fringes?

Options :

A. # In biprism, the complete pattern of fringes is obtained. In Lloyd's mirror ordinarily, only a few fringes on one side of the central fringe are
visible

B. ¥ In biprism, the fringes are circular but in Lloyd's mirror fringes are oval in shape.

C. # In biprism, the central fringe is bright, while in Lloyd’s mirror it is dark.

D. # The central fringe in biprism is less sharp than that in Llyod's mirror.

Question Number : 273 Question Id : 97675510854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0§ 71 fg e Sk dfas & gUur ket & offa Suged ofdr &l &2

Options :

A. * Tgfien o ot &1 qul feRey U 81T 8| A1aS & GUUT H AR IR S 14 fThel & U dRW Hdd $ Hhol [G@Ts od o

B. ¢




fefrea 7, b MareR 8d § afd d1as & gUul H fibS 3R § 3SR 8d & |
c. # fgfton o, S it < grar 8, Jafeh dias & guur & S gl g
D. * gy & Fdta fie dfge & U & ga-1 & &1 ool gl g |

Question Number : 274 Question Id : 97675510855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Lloyd's mirror produces a/an:

Options :

A. ¥ Chromatic fringe

B. ¥ Achromatic fringe

C. ¥ Multichromatic fringe

D. # Double chromatic fringe

Question Number : 274 Question Id : 97675510855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS gUUT frd BT IaTa Bl 62
Options :

A ®
gftle ﬁ;b—\ff(Chromatic fringe )

B. ¢
3quics ftb_\ST(Achromatic fringe)

C. &
W W(Multichromatic fringe )
D. # gl I'_‘i Gliva fﬁv_\rf(Double chromatic fringe )

Question Number : 275 Question Id : 97675510856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The diameter of the nth bright ring of Newton’s ring is:
Options :



4 % Dy yn-1
5 % Dypoc\n1
c % Dpocyn?+1

b v Da V2n-1

Question Number : 275 Question Id : 97675510856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= IAT & n-d I I BT AN © -
Options :

4 % Dy Vn-1
5 & Dyocvn-1
c x Dpcyn?+1

b v DpoV2n-1

Question Number : 276 Question Id : 97675510857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Michelson interferometer is used as
Options :

A. # Light source



B. ¥ Monochromatic source
C. ¥ Common light source

D. ¥ Extended Monochromatic source

Question Number : 276 Question Id : 97675510857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A H e AfdHROHTYY BT JaRT fohads U H faram ST g2
Options :

A %

USRI Id

B. % T&Hqull |id

C. ® I U1 Al

D. « fawaiia uewauif 9

Question Number : 277 Question Id : 97675510858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Resolving power of Fabry-Perot interferometer is given by

Options :

% — 7th Cos rE/4.1472
A d

~ = th Cos r/F/4.147
B. % 44

i — 47th Cos rF/4.1472

C.¥



A

— = 47Cos r/F/4.147A

Y

Question Number : 277 Question Id : 97675510858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTst dUT IR} AfdHRuATd 1 fane wfed frad gr1 &) o) 82

Options :

di — 7th Cos rvE/4.1474

A

A *

;—} — 1th Cos r/F/4.147
B. # i

ﬁ — 47th Cos rF/4.1472
C.v

j—k — 47Cos rVE/4.147A
D. #

Question Number : 278 Question Id : 97675510859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of each Fresnel half period zone is nearly equal to
Options :

A. % 1b

B. # m\

C. # bA



D. ¥ b\

Question Number : 278 Question Id : 97675510859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Thad 3 AT ol BT ETBA TTHT P SREREId§ |
Options :

A. ®* 1b

B. # 7\

C. # b

D. ¥ nb)

Question Number : 279 Question Id : 97675510860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diffraction pattern of a circular aperture consists of concentric rings with a central bright disc. The first dark ring appears when :
Options :

A. ¥ sinb =1.22A/D

B. # sin6=2.12A/D

C. # sin6=1.34 M/D

D. # sinf =2.22 /D

Question Number : 279 Question Id : 97675510860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JIHR §RE & fadd Ue-i § T $Ho1g 4w &7 & Ty Yobfad Iadi 81d & | UUH 31 Iag a9 fewms i 8 979 ;
Options :

A. ¥ sin0 =1.22 A/D

B. # sin0 =2.12A/D

C. # sin6=1.34 M/D

D. # sin6 =2.22 A/D




Question Number : 280 Question Id : 97675510861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The central maximum in double slit pattern is times brighter than that in single slit pattern .

Options :

A. * Double
B. # thrice
C. ¥ fourth
D. # fifth

Question Number : 280 Question Id : 97675510861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THd 3R} U &t g Iy & ga 4, G e &t v<ig Iy 1 3% THS I BIdT ] |

Options :

A. % QAT

B. % dH
C. ¥ dR
D. ® U
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Question Number : 281 Question Id : 97675510862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a quality of a good Physics teacher?
Options :

A. *# Inquisitive, creative and curious

B. * Patient and resourceful

C. ¥ Average knowledge in math

D. * Attentive to details

Question Number : 281 Question Id : 97675510862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 D11 U sfws Wi Rigie &1 701 el 82
Options :

A. % e, IS IR R

B. % Hg-IRNd SRR e Jue



C. ¢ Tforg § SNgd IH
D. * fqaRu & ufd Apg

Question Number : 282 Question Id : 97675510863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a responsibility of a Physics-teacher?
Options :

A. ¥ Preparing stimulating lessons.

B. ¥ Noticing student’s physical strength and weakness

C. # Identify and analyzing student needs.

D. # Setting and grading assessment of students.

Question Number : 282 Question Id : 97675510863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead 7 ¥ S te Wifde!-Ries ot et 98 82
Options :

A. % IRUMEAS UTS R HRAT|

B. ¥ B & ARING Wl 3R HHSIRY B AMfey =

C. % B P! XAl B! UgHI 3R IHT AT BT
D. ¥ BE &1 HuRr 3R IET i

Question Number : 283 Question Id : 97675510864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the advantages of project work of physics is:
Options :

A. # It is time-consuming

B. # They are not directly examinable

C. ¥ It promotes interdisciplinary activities



D. # Its lack of rewards for the teacher

Question Number : 283 Question Id : 97675510864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafad & 9 e i) & uRasm o & e H I T 32
Options :

A. % Tg 3 T A aTeht 8

B. % 3 MY g AT e §

C. ¢ g 3fd-fawg nfafafdt & semar dar g

D. % fR1&fep & oI GRRBRI 1 B

Question Number : 284 Question Id : 97675510865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not included in Dr. Madeline Hunter’s research about what effective teachers usually include in their lessons?

Options :

A. # Purpose

B. # Input

C. ¥ Detailed introduction
D. # Independent practice

Question Number : 284 Question Id : 97675510865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafiifed 3 @ i . Asfer gex 3 2 1 e €T S b 91 o Rieies STedR R o) g 58 wifivel A 22
Options :

A % 3R

B. % fAfay

C. ¢ fa%gd ulR=

D. ¥ A N



Question Number : 285 Question Id : 97675510866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods can a Physics teacher apply to ensure progressive teaching?
1. Using new edition of textbooks
2. Attend a number of seminars organized for teachers

Options :

A. % Only 1

B. # Only 2

C. ¥ Both 1 and 2
D. # Neither Inor 2

Question Number : 285 Question Id : 97675510866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfariter fRreror giAfara e & fom difaet o1 Riere HafaRad o @ o193 fafty sro=n gear g2
1. UTSTYRAD] &b T HXDHRUI T IURT Bl

2. Rrerent & forg Smaforg w2 ImMfgal & ymT a

Options :

A. ¥ $Had |

B. % dd 2

C. Y G 1 3R 2

D. % 9l 13IRAE 2

Question Number : 286 Question Id : 97675510867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Blooms’s Mastery Learning Strategy students who score marks or more are considered at mastery level.
Options :

A. % 0.7

B. # 0.75



C. =038
D. + 0.85

Question Number : 286 Question Id : 97675510867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST P ARES] AT Kool B AR 3 T ITY 3 3 U HRA a1 ST ! = WR TR /AT Sl g |
Options :

A. = 0.7

B. # 0.75

C. * 0.8

D. ¥ 0.85

Question Number : 287 Question Id : 97675510868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as 'father of observation astronomy'.
Options :
A. * Aristotle
B. # Kepler
C. % Aryabhatta
D. ¥ Galileo

Question Number : 287 Question Id : 97675510868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ PI'3{gdie I fa3H & S & U H ST SdT g |
Options :

A, % IRE

B. % HER

C. % 3MUg




D. ¢ Teiiferay

Question Number : 288 Question Id : 97675510869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a suitable-criteria for evaluation of a physics textbook?
Options :

A. ¥ Correctness of the content

B. # Appropriateness of language

C. ¥ Paper quality should be better

D. # Promoting students thinking about phenomena experience and knowledge

Question Number : 288 Question Id : 97675510869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIfde! 1 TTeagad® & i o [ ®IF 1 A SugH ol 87
Options :

A. % A D1 Yl

B. ¥ YTV Sl SUGeridl

C. ¢ BT DI [Ura SgaR g1 A1y

D. ¥ Tl 3HT 3R I & aR H A= aTcl BT BI geral ol

Question Number : 289 Question Id : 97675510870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not ever be done by a teacher?

Options :

A. # Being sympathetic to students

B. ¥ Make fun of his colleagues in the presence of his pupils to earn the later’s trust
C. ¥ Must maintain a distance with his students, though being friendly

D. # Praise the student time and again for his/her abilities/good-work



Question Number : 289 Question Id : 97675510870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofRed 7 3 o1 91 o1 e 31 Ht T81 31 Anfew

Options :

A. % B & Ufd geHYfd @

B. v 30 faenffal o1 fayrar 3ifoia o= & forg s faenfiat o1 SufRufa o S-1ds wgaifirdl &1 Held ISTY
C. * fPprad gia gu ot oo TEl ¥ =t 91T T e

D. % faendf ) argarsfl/sres STl & I TR-IR Ih! YT B! dlieU|

Question Number : 290 Question Id : 97675510871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following skills —

1. Communication skills

2. Safety skills

3. Psychomotor skills

Which of the above are required in a Physics teacher?

Options :

A. # Only 1 and 2
B. ¥ Only 2 and 3
C. ¥ Only 1 and 3
D. ¥ 1,2and3

Question Number : 290 Question Id : 97675510871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed oivd R foaR &% -
. TR I
2. GR&T IR

3, JISDHIHIC HIXA

Wt & e & oI SIRIad § F B 1 A<D 82




Options :

A. % Had 1 3R 2
B. % $gd 2 3R 3
C. % Had 1 3R 3
D. ¥ 1,2 3R 3

Question Number : 291 Question Id : 97675510872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of project-work in Physics?
Options :

A. ¥ Experimental

B. # Observational

C. # Survey

D. ¥ Fun

Question Number : 291 Question Id : 97675510872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 e difde! & uRaeH1-S1™ &1 U6 TR ol 67
Options :

A. % U

B. ¥ 3[qelichb

C. % [aafu

D. ¢ Hell

Question Number : 292 Question Id : 97675510873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Physics-teacher can make use of audio-visual material/aids in the class. How can that help the students?
1. It will enhance the curiosity of the students in the subject



2. It will shift the focus of the students from the subject
3. It will help the students who are slow-learners

Options :

A. % Only 1 and 2
B. # Only 2 and 3
C. ¥ Only 1 and 3
D. # 1,2 and 3

Question Number : 292 Question Id : 97675510873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Hifde!- e Hem # exg-yo it/ aeiae Il &1 SUTGNT &R Jhdl ¢ | T8 BT &l Aeg Y R Johdl 82
1. I8 B & favg | fOIema & dera

2. U8 B &1 & [avg ¥ gel &

3. g i Tifd T Hre a1 ST B Heg B

Options :

A. % Had 1 3R 2
B. % $ad 2 3R 3
C. ¥ Had 1 3R 3
D. % 1,233

Question Number : 293 Question Id : 97675510874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is associated with the Project method amongst teaching methods?
Options :

A. ¥ William Heard Kilpatrick

B. ® Hilda Taba

C. # Ralph W. Tyler

D. # Lawrence Stenhouse

Question Number : 293 Question Id : 97675510874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafafed § 3 o e faftr & o aRaemr ugfa A ge16?
Options :

A. ¢ faferoy g8 feraufcs
B. % fgcardal
C. ® e Sy ClYeR

D. ¥ ARY WA

Question Number : 294 Question Id : 97675510875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the topmost level in the Cone of Experience?
Options :

A. % Watch still pictures

B. ¥ Read text

C. ¥ Participate in a hands-on workshop

D. # Listen to lecture

Question Number : 294 Question Id : 97675510875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 3 THUIRG ¥ gl TR o1 67
Options :

A. % RR R

B. % U8 Ug

C. ¥ IS BRI H HFT

D. ¥ URAM I

Question Number : 295 Question Id : 97675510876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of continuous and comprehensive evaluation process in Physics?

Options :

A. % Since teaching learning in a school is a continuous process and assessment is an integral part of this process. so it is essential
B. ¢ Teacher uses only a fixed technique of evaluation

C. # Teacher provides feedback on different aspect of learning

D. # It does not mean more frequent tests and examination

Question Number : 295 Question Id : 97675510876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & @ e Hifde! § Tad iR Sus Yeuid- Uiehal &1 faRivdT gl 82

Options :

A. * I forht foemerg & fRreror SIfTH U Tdd ufehan 8 SR Jedie1 39 Ufthar &1 T 3fF ST ]| dl a8 Sl §
B. ¥ I/ Tid &1 dhad Th Mid dh-iid BT ITUNT Bl §

C. % e e & faftrd ugqsit w ufafsar yem #rar g

D. # YD HAS T8 -Tal § o 1A IR THeor 3iR uiem ot |

Question Number : 296 Question Id : 97675510877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of Learner-centred Performance-Based Assessment?
Options :

A. ¥ Continuous and comprehensive assessment

B. ® Focus is on learning product and outcome

C. # Assessment of learning

D. # Focus is on knowing learning deficit of the learner

Question Number : 296 Question Id : 97675510877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & @ o3 fRreni-Ffaa uexH-sneia siema o o g2



Options :

A. ¥ 9dd Ud AUDH HcAldh

B. % I 3R IRUmM FeH W & $Hgd 3

C. % TR &7 3fhar

D. * Rremdf & dran ot S S R & dfgd g1

Question Number : 297 Question Id : 97675510878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following approaches is NOT adopted in taking up a project of physics?

1. Performing experiments
2. Using an interesting available data

3. Engagement in exploration
Options :

A. # Only 1 and 2

B. ¥ Only 3

C. ® Only 2

D. ¥ Neither 1 nor 2 nor 3

Question Number : 297 Question Id : 97675510878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o a1 Do Nifde! ot uRais1 Y g & T8 U= Siidr g2

1. TORT HIAT
2. T oy Iuds SeT &1 SUTNT HRAT



3. 3901 H Haudr

Options :

A. % Had 1 3R 2

B. % %dd 3

C. % $Had 2

D. T 1 3RAE 2 MRS 3

Question Number : 298 Question Id : 97675510879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a technique which could be adopted for presenting and introducing of any new concept related to physics?
Options :

A. # Presenting a problem to the student

B. # Carrying out activities and experiment and raising question

C. ¥ Involving students in their homework

D. # Narration stories incident etc

Question Number : 298 Question Id : 97675510879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefied o @ -3 e et § o Hifde! ¥ Faiferd fardlt 718 SrauRun &1 URqd HRA & e 37U T bl /2
Options :

A. % B & ITHA Th JHRT T HRAT

B. % Tifafaferl &) 3T ST 3R UGN ST 3R TaTd IS

C. ¥ BT Bl 3P e H QMU H3AT

D. # HYT BT YT geT T AT

Question Number : 299 Question Id : 97675510880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not one of the Pillars of Learning given by the International Commission of Education?



Options :

A. # Learning to know
B. # learning to do

C. ¥ learning individually

D. * learning to be

Question Number : 299 Question Id : 97675510880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & ¥ ST U xR HHIRH 3T o[ gRT 3T 7T ferd 3ife affn & 3 e 82
Options :

A. % S & forg g

B. % T ARG

C. ¢ SHfRATd ¥ ¥ g1

D. ¥ M1 ARG

Question Number : 300 Question Id : 97675510881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following —

1. Collaborative learning

2. Brainstorming

3. Homework

Which of the following are teaching learning strategies for life long learning?

Options :

A. ¥ Only 1 and 2
B. ¥ Only 2 and 3
C. # Only 1 and 3
D. # 1,2and 3

Question Number : 300 Question Id : 97675510881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fAafeiRad o1 4am™ 4 TWd gu -
1. FguNTIcH fRrer
2. faaR Hy=

3. eI

fafeRad & @ S Sita WR Wiem & fore fRreror siferms Yomifaat g2
Options :

A. ¥ HId | 3R 2

B. ¥ Pad 2 3R 3

C. % Pad | 3R 3

D. % 1,2 3R 3



